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* 7% (=t Objective
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% l!v'Luliuﬂua-Lﬂu:/béc_.)d.tfﬁdlr//QI(QL? ...u?ic-: D . CB-A ....«Llj’j Jlof.dlr/ /J,,,-
N w,.wf Ay’ J L..f /e uﬂ.‘_/ 25 u:./vac:,.fl WSy PRy LLU:/D ,..:Is-f 1

p | ¢ | B A " Questions /=y 24
| uw | usie| i i Je RESET S N
| Base Exponent ; Radicand : Radical |In 3 the 5 is called: B L
i Jg((' ® Jg;‘fl.'g U£ e ! Jg): c.t'bLg/dklgbeFrL??qug '

_ | The tax charged on all the taxable income is _' ;

Income tax | Excisetax | Directtax | Salestax | .alled: |

..,;kaL r,""{',; .T h-n‘); -] Lf,:.’ The periodic u‘YJ/J:JU(JIJlZLJ)LJJHI! 3 “
Markup Premium Discount Bonus instalment to E?E Qaid by the insured is called: ___1I
100 XL rs 100x =33 fed o
I T LRl 2 - S 55 RPN . ° t=giedl 4o
| Discountx100] MP+ |y «s_sp | 100xSP__|CP=? ? l
MP Discount 1700+ Profit% .
| | dr(l,(//é_u ISOOOOL{LJ"LQ'M drd/lk C'—-dlﬂd}.k’ :

20000 15000 ® 5000 10000 Ushr on a wheat crop produced on ‘\f ﬂdﬂ >
natural resources amounting to Rs. 150000is;: |

S ——— | ’ |
5000 @ | 2500 1500 { 500 od-Uf fJ/u”Ld_JJ 200000 & |
Zakat on J@ O IS: ' i

-"lll

15: 17 15:19@| 19:15 17: 15 Q@)r of75 :951 S VPl 75 : 95' 7|
: orm IS: ’
% :

i 9 p . C |
sl | e | b e o fabicid | g |

Antecedents [Consequents| Extremes l [n proportion a:b::c:d, “b” and “c” are called: |
| . Lvﬁj’r‘ufd L.’.:K(}(/f 2Lk a.L)J | &5 O} Vdf ....-->I

» OV
2ol st - U, ¥ @ g f When a bar graph is constructed : c.t‘U/;'r../L- ol g |
Bar diagram | Histogram ' Curve so that area of each bar 1s prOportlonal to the *
L N | number of items in each group is called:
0 | @ _3 9 y—-—‘?:’ﬂ;x 2y 3xfi 10 |
I R _______T_l_f_y__Bxandx 2 then y = ]
g | .3 3 4@ 1.2 U—A=2 dnA={1,20U= {1,234 4 |
l__-{ “}_ * { _} .. { } B { *} IfU={l1,2,3,4} andA""l 2} then U —~ =ASH
- - ANB =7 Juncs A 7uBsAS
. BUA . AB® BMA [ ¢ If A and B are two non-empty overlapping sets, 12 i
[ | then A(NB=7 |
¢ V- s ': 2 v oo T
30 162 @ 161 160 ~ JILL&J a5k 2,6, 18, 13 |
- i ai_clf;Z,iS,_}f,...ls: # ' E
I : . : .'
Se b ol nl 8 ]
. e @ i/ WE 14
! V2 22 £2V2 22 G.M. between 1 and 8 is: |
—— I S F— e o
usubt L .u;é‘ . @ w{f,ﬁl_mﬁfu’/}w.&xdﬁ :
Rational " __ |In the logarithm of 2 number the integral part 1S : 15
| Mantissa Real part |Characteristic callcd |
_number ) _ S
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(Part-1 : Jil.o)

e e B

12 Write short answers to any SIX parts. -éauzﬁ? L;lmg.—_—_df %,
Simplify the ratio %—%:2 in its simplest form. _aUquva {_(5)-:2 (i)
Ifa:b=2:3 find the ratio of 6a : 5b ..gf:.’r:"’ 6a:Sbina:b=2:30 (i
Define proportion and write its symbol. 2 et SE s P8t Gid
Calculate the amount of Zakat on an amount of Rs. 500000. -_ér':‘"'i:'@;ﬁ nf &3, 500000 (iv)

Write the rate of Ushr if the land is irrigated by natural sources. ..::6( J. Jb’aélﬁ@:ﬁd}ﬁé LAY )
e P e 0,350000 BASE SNl LU+ (vi)
Calculate Ushr on a wheat crop amounting to Rs. 350000 produced by artificial resources.
G B Tl 51 s 6850 SuF g1 6590 WK L11 (vid)
If a television is purchased for Rs. 6590 and sold for Rs. 6850, find the profit percentage.
Find SP, when CP = Rs. 1540 and loss = 5% 5% = S ess 1540 = 47 md 2 G5 23 fnd (i)
12% = é}f}:lzru 858 = &:}J.ﬁéf}b";&zaﬁ@ﬁ (ix)
Find marked price, when SP = Rs. 858 and discount = 12%
12 Write short answers to any SIX parts. @ -ﬁ.-py.eﬁ? .«':.;I‘Zlgc:.df -
What is KIBOR? @5& ?4;-_;1’ KIBOR (i)
?/’u"'fﬂl»a.(jf;f@u:a; TJ;JJ?AM?“ (i1)
Write any two allowances included in gross income d person.
o S A NUTET 220 16% —oiss 1400000 b vk ebfi (i)
The annual income of a flat is Rs. 1400000 '@’ e tax payable at the rate of 16%.
Simplify S:[(x""'y?‘ )~ with positive ind} -Egut Vs Jvlﬁj:lé 2 9\/(x‘4y3 )2 Gv)
l

1 1 1 1 :
Simplify: 5x3 x2x3 5x3 x2x5 2= A7 (V)

Write 0.86x10* in decim A PEend 0.86x10* (vi)

What is geometric sequence? -_‘4:.._5! /7 J ,de 2 st (vii)
Write first two terms of sequence of a, =3n-5 ..Zgr;" A a_ =3n-5 L+(viii)
Find geometric mean between 5 and 9. -é{:l”lw:q Pl 59 (ix)
12 Write short answers to any SIX parts. -ﬂ@&lﬁ/‘? LtlZ'H:G'—J/ -4
BUB'=U ety B=1{9,10,11,..... 20}« U=1{1,2,3,..... 20101 ()
IfU={1,23,..... ,20},B={9,10,11,..... , 20} then verify thatBlUB'=U

2 almdétcxcinc={1,201 Gi)
If C= {1, 2} then write the number of binary relations in C x C.
Define function. ..._é.l..@ /7 SFE (Gii)

Represent the point C (6, —3) on graph. -g,-’: by J/fc (6, 3)L5 (iv)
Convert 25°C in °F with the help of formula. SR L F csalfirif 25°C (V)
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Recognize the abscissa with the help of figure. - 5 b O] Stat (vi)

Define measures of central tendency. ..._é...ii /7 i J"’ gJ eSS (vii)

Find the range of data: 2,9, 3, 6, 12, 8 2,9,3,6, 12, 8 :& & o r (ol (viii)

Find the AM of the data: 184, 191, 172, 168, 187, 189, 196, 186, 193, 195 :éf:"’hﬂdbb’:l:f (ix)
l ALy o SE s " O o

S L Ut & U 12 cosalus 18 st lnfesy 600 U9 9 Luss 20 Ui £ L0 () -5
A factory makes 600 suits in 9 days with the help of 20 machines. How many suits can
be made in 12 days with the help of 18 machines?

131215 ePdUtu Ly Sigh 8 0200000 UL (D)

Distribute Rs. 200000 as a profit in a business regarding three persons, if their shares are
in theratio 3 : 2 : 5.

#I33e91 5000 =SB4 IF 31 40000 iy Ik 1538548 40 I3 40 3 10 (3 -6

Calculate the amount of Zakat on 10 tola gold and 40 tola silver, if the rate of gold is
Rs. 40000 per tola and the rate of silver is Rs. 5000 per tola.

0z tpsrdss 850 Ul 4 Jb 3 Sore&ss 680 (1kif BT oty ()
At what annual rate of profit would be sum of Rs. 680 will increase to Rs. 850 in 3 years
and 4 months?

28300070 Einfsduor-e Sl 2830, 70 %@@Q@Jg 8 siseh 6 Uk sind 171 (L) -7
_ér;h’alf(f:f@%t‘/(?&)éwg40 o:/ﬁ-‘:;.b(l.S 1

Aslam gets paid Rs. 70 per hour for his nos (y orking 8 hours daily (6 days week). The
rate of over time is 1.5 of Rs. 70 per h ;a he works 40 hours as over time, then workout

his gross monthly pay.

n=3.14r=624 R=83.6 v=1190« h=———£Zr>h (L)

m(R*-r?)

whenv=1190,R=283.6,r=62.4, n=3.14

Findhif h= 3
m(R* -

¥ 2 :«{'JJ}E'JJ’ 0 &EJ{/LZJS Jgjzél’}l’”f/u_"jll‘ J.J.«L'd//_-";l () -8
Find the 11th term of a G.P whose 5th term is 9 and common ratio is 2.
SEetinB={7,8,11, 12} A = {7,10, 13, 14} « U= {7, 8,9, 10, 11, 12, 13, 14}./1 ()
(ANB)¢ =A°UB"
IfU={7,8,9,10,11, 12, 13, 14}, A= {7,10, 13, 14} and B = {7, 8, 11, 12} then
verify that (ANB)¢ = A°UB®

Draw the graph: y = 3x y = 3X :ng/d(Jl) -9
Find mean and mode of data set: 3,5,6,8,8,9,10 :_jd_f-:r:b’ulmlb/:l%!r ()
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Objective
Paper Code
20 120 > 264

% I!v‘ﬁuliuf.uc:.-u."-'u:/l:c'cc.-m'.bf.dlr//Qb’du’ ...u!éa..: D .t CBA uLli.f;W:.Jlf g /J,,,.
Ky .W....al.?w( 4 Lﬁ Y o J é../ /s uﬂ L)/} M UJ/lmLJa..u(l ..Z:.J A c:..uﬂ/;l.:’:/b.al-f

D C ¢ B | A | jpesﬂons / Uy P ﬁ
For the given d data2 3, 8, 9 6 12 then R=7
s polkyd | bl Ll ol E(x; ~ K) =0 ,
- Mode M. A.M. ~ G.M. Z(x; —X) 0 is one of the property of:
A S 5o Sy, Sk e bl e bl 434 ufJﬁ'r-wJo o
. : The tax charged on all the taxable income is
Excise duty | Income tax | Direct tax Salestax |qalled:
6 4 2 0 @ x=0.ﬁJn_§fogd/yu1y=2x sl 4
Forx =0, find y from y = 2x
S ——
d’lﬁ!ﬁ,{rf c})’li'b’dcl.d‘:" r}ﬂ“::f.‘.lé & J:ywb‘: =§.JU?(AU(BUC)=(A UBYUC s
[ntersection of| DeMorgon’s | Associative |Commutative | 4 |} (BUC)=(AUB)UC is called:
sets _law law | law ] . )
O I
¢ @ U A U-¢ | J @@ 6U$ /i 6
B B *U¢ (O - -
¢ 2.
\/5 -2\/5 12\/5 @ 2\/-2_ ® . -q-gbr:d/u,_w;[. 8 il 7
- . between 1 and 8 is:
 S— --——* — — —— K(_V """'";./ / - &T_‘?Vf
7 1 Al @ L $ e E B g (s L .
| '@ A machine installed by the bank to dispense cash
Card reader ATM Scanner SOMPAter |ty customer is called:
| &5 ‘ = S e . -
Y- Lf!&,U)J-”J' 3,87 N UJJ,“J'l u.?:'f’—ra_lcs.dlwkéfffé:uﬁﬁlﬁf
» Insurance ﬁ The company undertaking the act of insurance 9
Insurer . [fisurec Insurance |is called:
i _policy (0 | - _
) B Characteristics of 53.764 is: )
5 4 3 7 @ ?ﬁ:_t'lp_l.f(:w u:rul&([dzl):ﬁ; [1
L ] N Busmess partnershlp 1s divided into types.
o o . Se WO ASSIE P (P St i i
257 2.5% 10% 5% ® [Ona crop produced on artlf' cial resources, 12
- _ Ushr is deducted at a rate of:
20000 | 25000 30000 2500 @ Tl g 1000000 13
- 3 ~_|Zakat on on amount of Rs. 1000000 is: |
10% 30 13% ® 13 | AP U2 0.13] 1y
| . _|0.13 in term of percentage is: |
20 1 10 1 511 4:1@ SV PobTf20:5) 5

Lowest form of 20 : 5 1s:

912-1X124-30000
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Write short answers to any SIX parts.

iz L,l;zuga.éf 2
sl TEE ST b LI 40 el 514 ()

Increase 40 books in the ratio 5 : 4, what would be the number of increased books?

In what ratio 60m? be decreased to 24m?? ?q.ﬂilgy'f Ky, 24 I ds 7 60 c:.:-.f-.vj(/ (ii)
Write simplest form: =7 -g-% 2l P Tier’ (i)

_.:-_.rl/ 337400 = detg,éﬂér#; s },;d,clgrlf 500 (iv)
Calculate amount of Zakat of silver of weight 500 grams if rate of silver is Rs. 400 per gram.
W N ATy LV U o e 1i A He S i3, 4800000 L /1 (V)
Akram left a property of worth Rs. 4800000. He left behind a widow. Calculate the share of widow.
-_Z-:r:h’ /“' 437 800000 C{LJ" Jd:lguﬁl,g,a.ém(j/ﬁ (vi)
Calculate Ushr on a rice crop produced by natural resources amounting to Rs. 800000.
%8 = L s 51520 = =3sjod B Z P e doibln (ViD
Find marked price when SP = Rs. 515.20 and discount = 8%
-“ér}"u:.véuuﬁ(w-.;_t/;ﬁ,)ugv 8 Jﬁu..gm?.ui'upv 6 L}/ﬁu..gldgb(\?iii)
Daniyal buys 6 sweets at a rupee and sells them, 8 sweets for a rupee. Find his loss percentage.
5% = d--:{:}lé'__u 2760 = Ja}b;;ﬁ“é’rﬁ’y:)oa’: (ix)

Find selling price when MP = Rs. 2760 and discount = 5% @

Write short answers to any SIX parts. ©<§ -ﬁayzﬁf Lpl:Zlg:_.J:‘/ .
&3 22.3449 5B -ZEdw LU U 500 G

Convert 500 Saudi Riyals into Pakistani Rupees. Saudi s. 22.3449

Define indirect tax and give example. % EA Py it u’g Ll (i)
YJﬁJﬁ)lFJfJ[LliLﬁjwzﬁ@ 18000 JG}JQUZJJ{ﬁH%t'%ﬁJE}: 16% J;U'stf (iii)

A sales tax of 16% is imposed on televisiori>\If the marked price of the television is Rs. 18000. Calculate
the total amount one has to pay, if s to purchase it.
V8a° & A4 (iv)
3

Simplify: \8a’

3

4 4 2
Simplify: 2% B &2 W

4x35 4% 5
N . L N 0.96x10’ f L de £ (v
Simplify and write your answer in scientific notation: BT 20 uﬁﬁ 5212 2 (Vi)
X

Find the sixth term in the sequence: b %- . -;— . -é%- T , Ag :é’_:(PFJJ{J.U' (vii)
Find A.M. between 4 and 8. _é‘r:“’bﬂ:d‘:u&{né 8 st 4 (viii)
Find the 7th term of a G.P. 2, 8,32, . .... A 2,832, ... Mg (0
Write short answers to any SIX parts. _a’..-.pyzﬁ"' L!'Z'AZG-J[ -4

e AUCInC=1{3,4,5, T} cA={1,4,7, Y1 ()
IfA={1,4,7,8},C={3,4,5,7} then find AUC
e enm e AxBInB= (1,3} A= {3,5,6} S (D
IfA={3,5,6}, B={l, 3} then find A x B and write two binary relations.
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Define intersection of sets. Ay SCE Ly (ii)
Represent the point (— 3, 7) on graph. -5‘,{ /;W{,Jlf S (-3,7 L& (iv)
Convert 150°F into °C. _“é'J_é‘ui' °C £ 150°F (v)
Define origin and draw its graph. vy ,qlﬁ.gdiﬂ:lé-:_g /"'J olar (Vi)
Find the range of data: 5, 3, 2,-10, 15 9, 3; 210, 15 :__éf‘:"";#gf;lr (vii)
What is the difference between mean and median? A £ 30/ s bost Q> (viii)
Find mode of data set: 4,3,4,5,4,5,3 4,3,4,5,4,5,3 &P nbber Loy (ix)

s nedVSus! 30 ingss 22000 =2 Sus’ 80 (L) -5
The price of 80 shirts is Rs. 22000. What would be the price of 30 such shirts?

10500 c_mﬁ_a‘_t-/d”lpc‘j",»é 8 J.sl‘:‘:.t'/&:/.u:%.u 12000 fuﬁ:"dbLh:_}(..{uu%;.g ()

O S IS w6 15 S 3y Y
A shopkeeper gains a profit of 8% by selling a washing machine for Rs. 12000. If he sells
it for Rs. 10500, find loss percentage.

b o U e L e LU g LIS S e S, :,JL‘4500000 Fo i f L () 6
el

A deceased left a property of worth Rs. 4500000. If h yehind a widow and two sons,

workout the share of each. 3
-;érkfc’@ Ul 6% & L 4 4e 9,600 ()
Find compound profit on Rs. 600 for 4 yea @ 0 per annum.

U230 d_l?é_lgyug Kel @@% 4J?La’u,gﬁ-.;_--4_,_y 4000 =f S LGI2L (L) Z7
% Lok

The price of a tricycle is R 0. If 16% sales tax is charged, then calculate the amount

of sales tax on 30 such

: : 2.38%3.901 2.38x3.901 7
Solve with the help of Iogarithm: R E 123 _:éJ’ c..ugf/ £ (L)

‘e ~146 ( 45756,2,-2,...... 37 (L) -8
Which term of an AP 6,2,-2,...... 1s —1467

SE i C=12,3,5B={11,17,19,23} A= {1, 7, 11, 15, 17,2131 (L)

(ANB)NC=ANBNC)
IfA={1,7,11,15,17, 21}, B={(11, 17, 19, 23}, C = {2, 3, 5} then
verify that (A(NB)(1C=A[(B[)C)

Draw the graph: y=2x -3 y=2X -3 5” 1S () 29
Find mean and mode of the given data: 4,6,7,8,4,9,7, 10 :g_i:r;b’a:u.ulmtb/,tr ()

912-1X124-30000
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General Mathematics Paper: 1 {;ﬂb’ e ] ..bjgdﬁdzﬁ? ( 15%A 124 - I) Y, (f'_LJ dﬂ
Time: 20 Minutes Group: I OBJECTIVE (% oy 20 20 1 3
Marks: 15 Code: 5261 15: ng.

Ol LoI? erns e J5 UsFs é‘:é_J &Ly 4 £ QKQL’? -U_?f‘fé-J DuslCeBe At j;y Llrs  ad
e @ bl W1 il S azﬂJL/£ Sok L d../i S Ui ol ekl E55 £ e i) S S0 0b 3

1- 1- 20% of 600 is 8 ¢ 20% ¥ 600 -1 -1

200 (D) 20 (C) 120 (B) 12 (A)

2- Zakat is deducted at the rate of < by e, DAL J}'f S35 -2
5.5% (D) 4.5% (C) 3.5% (B) 2.5% -(X)

3- Profit is eamed, if S te Y & -3
SP<CP w=3jud <i/ed (B) SP=CP wdjul =4/l (A)
none of these u.?' J/ = J- ¢ (D) SP> QP ..-_w;}..-.-.f > 4,}".5.3 (8)

4- The person or entity whose insurance is being done, is called the (7 &f ! :ﬁ th J u":u"”'l J U Al u"’ 03 -4
lessee . /:.' (D) drawer i (C) insured 3.5 B) insurance s (A)

5- Taxes in the form of duties, motor vehicle taxes are called u_?:éf ' L,/-? ¥ J” J Lﬁ J{.:l:)r <293 <5
direct tax Jg.i/bg’x (B) indirect tax Jg,bcb'l, (ﬂﬁ
income tax Jgﬁ (D) property tax Jg:lglg (C)

6- Ina", 'n'is called - sl ka6

radical .4 (D) exponent Ve s (C) radicand %" (B) base Jl1 (A)
7- The decimal part of the logarithm of a number is called ®;>ﬂ Lo LWL ns” T

real part ,.ﬁ(}? (B) g@ characteristic = 2t (A)
0%

mantissa L (B) % rational number wJ"L‘ (C)

%@ e =i f a,ul2,6,18,.... -8
30 (D) @@(C) 161 (B) 160 (A)
O

Sned § agisna,=2n+3 .01 -9

8- 35'0f2,6,18. ...... IS

- If a,=2n+3 , then agwill be

0 (D) 9 (C) 15 '(g) 3 (A)

10- If A-and B are two sets, th e AUB JuscrnBaAJ 10
BNA (D) AnB (C) o (B) BUA (X)

11- (AUB)' = (AUB) = _11
¢ (D) A'NB’ (8) A°NB (B) ANnB (A)

12- The co-ordinates of origin are Lt & gl 12
(1,0) (D) (0,1) (C) (1,1) (B) ©.00 B

13- The perpendicular distance of a point from Y-axis is called = b Lol f e 45 K55 u'( -13
row J& (D) perpendicular »f (C) abscissa /iy (.B) ordinate JUL?I (A)

14- The summary statistics which measures the middle (centre) ‘« e/ J'g J ( )}) by 7 A3 JL;F Kol o"( -14
of the data, is called & < L'll:f
all of these rb'f,.._.' (D) median k- (C) mode alb (B) mean Lol (A)

15- R=Xm~Xo is the formula of e & R=Xpn=Xo -15
harmonic mean Lrsl.E'r;;-(D) variance :.;/:.5 (C) mean leg}l.? (B) range o« (X)

13-(1)-1%*A 124-45000



Gujranwala Board-2024 g%pakc;ty_org'?p

General Mathematics Paper: 1 (Jlb’ eI @J&Jﬁdjﬁ? ( lstA 124 ) I ‘24 u"',l,; J)’.
Time: 2:10 Hours Group -1 .;,,fu,; 2' 2:10 : =h

Marks: 60 SUBJECTIVE
Note: Section I is compulsory. Solve any THREE (3) questions

Jwi

from Section 1.
Section I Jil.»

2- Write short answers to any SIX questions: (2x6=12)

4 " . 7 4
- if -g of the students in a school are on leave. How many .;g,"’ e J 100 Ny u’{ E K ..Jb J’ e JF_.Q /I

¢ %
W S s Fus WY 45% < 2 WP L JE LN

students out of hundred are on leave?

li- If 45% students in a school are girls. Find the

60: u‘gl.
(3)@-;::.. ch.. u:r.u -0 - 9] Jil...'-'o TOY

éd’mﬂlr
el (6) g -2

-

[
-l

percentage of boys in the school. e r:l”yf}
iii- Define proportion. -é ...y/"" J -l i
iv- Define Zakat. _é .y S5 v
v- Aslam left a wealth amounting Rs. 4,00,000. He left (e 047 Ll J S <% Ja 21 &-1¢-1,4,00,000 . ("! -V
a widow,lwhiI.e he did not have any child. Find the share koY, " J l)/, g £ d ’(Ul' L UG
of Aslam's widow.
vi- Calculate the Ushr on wheat crop produced by natural £ ¢46,00,000 th J" J ru:r o e él}i 81.5 Vi
resources amounting Rs. 6,00,000. _5 r:"'” )4
vii- What is the difference between profit and loss. S U7 YUyl g i
viil- Find SP if CP=Rs. 9,600 Profit=10% 10% =&’ soo =y il G (P asped i
ix- Find marked price when SP=Rs. 858 and discount=12% 12% =¢@ru858 ._,p,/._,...’ L r.’: (:1"‘ ._u’ayf,,u =X
3- Write short answers to any SIX questions: (2x6 © ..2': (/’...a Ll?/‘r’ﬁuﬂlr(s) ic:..(jf -3
i- Convert 5000 Saudi Riyals to Pakistani Rupees, whr@%c/ S se et Ui S S U 5000 -
the currency rate is 1 Saudi Riyal = 85 Pk. Rup L-185= JLsr1
i~ What is meant by excise duty? @ eyl Ve J;'.? FLE i
. L%ive of 16% u’g)" 16% 4 J~ e ¢-2,34,800 .u’ J//J i
the computer? e U’_J J"IJ/J‘I_;. e JB
xponential form 3/a '’ Yals & 2 Sl ved Izl ZE A v
V- Simplify and express with positive indices ﬁ x3y/ab™> \/E xfh/F 24 S e s o IR nf i /‘7 -V
vi- Differentiate between characteristic and mantissa. _é 515 J}uﬁ L& sl ol _vi
vil- Write first two terms : 2, = 21:_15 a, = 21:_]5 2 r:’u; J&f Vil
viii- Find AM between -3 and 7. S P BT LT a1 -3 i
Ix- Define Geometric mean and write its formula. &y é - J de £ -ix
4- Write short answers to any SIX questions: (2x6=12) .é //’...wﬁ[...,uwe) ir.-..(jf -4
- I A=(1,4,7,8}, B=(3,4,5,7}, C={4,6,8,9), C={4,6,8,9}, B=(3,4,5,7}, A={1,4,7.8} /1 _i
then find (ANB)NC . érﬁ" (AnB)NC 4
ii- What is meant by function? e s JU i
ii- If A={1,2,3}, B={x,y, 2z}, then find AxB and BxA .."".é(}” BxA »! AxB sxA={1,2,3}, B={x,y,2) ﬁ <lii
iv- Represent G(0, 7) on the graph. & sb s S 60,NE v



u@pakciw.org%

v- Write down the co-ordinates of a point lying above
x-axis and on y-axis at a distance of 4 units.

vi- Convert 220°F into C°.
vii- Find AM of the data set6,2,4,3,4,5,4,5
viii- Find Range of the data 10,18,9,6,22
x- If X=4000 , 3 x =32000, then find the value of 'n"

-ﬁabf[_:nf24{:la;f-x4zf-y£ﬁel -V
S St C? L 220°F v

5 Laldl> ¥6,2,4,3,4,5,4,5 Lr Loly _vil
& e~ §10,18,9,6,2200 vl
L ed i I Tx=32000 X =4000 S _ix

Section II r» -

(u_!'/:; 4 Ls7 z /'2 8 ZJv £)

(a) If the stay of 12 men for 28 days in a hostel costs

Rs 6720. Find the cost for the stay of 8 men for
14 days in the hostel.

27§ 28K Ut 124 S LA () -8
& L& 148yl 8 3n 16720

(b) Distribute Rs 720 as profit amongst three persons, Ve Ur” Pl ul/ﬁ ci (:y ‘j; J (‘j’ 4.'....;;720 U S u.’ (.,.f)

if their shares are in the ratio of 3:4:5.

(a) The inherited property amounting to Rs 20,00,000

is left by a deceased. He left behind a widow and
two sons. Work out the share of each.

(b) Find the compound profit of Rs 50,000 at 4% for

1L
7 years.

(a) Khalid works 6 day-week. Find his gross mon@g

wage, if his rate of pay is Rs 200 per d

(b) Evaluate using logarithm

(a) Find missing element usi mula of A.P
a=5 , a,=61 , n=15

(b) If A={-2,1,4}, then write two binary relations in A,
also write their domains and ranges.

(@) Draw the figure with the help of the following points on
the graph paper:
A4,0),B(0,4),C(—4,0),D(0,-4)
(b) Find the standard deviation for the values

2.3.6.8,11
13-1%%A 124-45000

e Tas
%3:4:5 =’

S5 un 38 e ol 033 ,gg;i_nz_ﬁ,gﬁus) -6
oo () Ut 2920,00,000 s oL

P Yo 13 o U220 4% 4 &2/50,000 (o)
L& o B

12200 et Nl b/ PK s 6 L AU () 2T

..i(}’”..:pzi;l,l. i S Ji b1

-8-56‘]7 ?—2'94 2 S su JZE'J’ (o)

g b oot & n 2 S e K KA gE (L) -8
_ a=5 , a,=61 , n=15
ety S S s s U Adn A={=2,1,4/1 ()
A
&l f/u/ul.uf/h {/?-:“':Jljfbﬁ;d.;@ﬂ () -9
A(4,0), B(0,4),C(-4,0),D(0,-4)

%
e
50

éf)b’hj'f’d}!:v K sy ;J__'.;Zw (-.:-f)
2.3.6.8.11
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General Mathematics Paper: I (Lm’ I wtdﬁd:ﬁ‘ (18%A124-1) 1I: 24 CLsJR
Time: 20 Minutes Group - II OBJECTIVE (%% i 1 @3 20 : s
Marks: 15 Code: 5262 15 : S

Olbr Lo s e Jo U5 é’:é..’ ey 4 £ Qb’(élﬁ -uzé’:é_.! DssCecBe Alin j/‘lq s s
Bt ¥ 1o e L9} Wy Un mﬂJZ_./.é Sk L L../i J.(U);’J 319, c:..--g -"d’:'.':/::.uf'y S Lo S

| .
1- 1- 3- in terms of percentage is - LPJ-H-’ '5 -1 <1
1

3% (D) 1% (C) 33% (B) 33 3 % (X)

2- Lowest form of 75:95 is o F—— Lul TS 75:95 .2
17:15 (D) 19:15 (C) 15:19 (B) 15:17 (A)

3- The share of son and daughter in an inherited property is in the ratio e R LS o R 3
2:1B) 1:4 (C) 1:8 (B) 2:3 (A)

4- Zakat on an amount of Rs 1,00;000 is rupees. - a;..uT_ d;‘/ J ?ﬂ{ z;.u1,00,000 -4
25,000 (D) 15,000 (C) 2500 (B) 2000 (A)

5- SP=? where SP>CP Inc sreld desiped fiE oo e pald 5

Jor Vs, ® .
(100+Profit%) o 100+8'% ) x4+ =2 @) Profit—CP & -1/l (A)
100 100
27 oA+ AIY . ot

ool L—;'aau - CP - Loss 4=d ol (©

6- A machine installed by the bank to dispense cash < S o, 11 fu.d.? e 6" S0 o £ B
to customers is called - < dﬂf(

|

card reader .. 3,6 (D) ATM F£1det (C) @ 2 (B) computer ).:'( (A)

7- The form of a tax which a buyer pays on a manufactured Tp e L xFoln 7 gl ¢ A or J ¥ u’( -7

item at the time of purchase is called @ - 4f

sales tax u’g7'f (D) income tax Jg f (C % tax Ja (B) excise duty dgu LEH (A)

8- Inah, 'n’is called S qf {'mia" .8
base ! (D) exgonent (C) radigand .2 (B) radical .x (A)

c.-_( 2+\/_ .([c_u"'.;m.( -\/2-,-\/— -9

9- +/2+4+/3 is not a radical, because
teger .wé‘ (C) ratipnal .wui’l: (B) irrational wu"t/ (2)

exponent li=s (D)

10- Next term of 12,16, 21, 27w s S AdiL12,18,21,27,.... 10
34 (B) 33 (C) 32 (B) 31 (A)

11- G.M between 1 and 8 is e b ulen S8 1 11
242 (D) 1243 (©) -2./2 (8) V2 (A)

12- AUBUC)=(AUB)UC js called e ‘}M AuBuUlO)=(AuB)UC _12
Associative Law  (ilfeu sl (g) Commutative Law Haste (A)
Intersection of sets d’ G ¥ yurr (D) De-morgan's law s/% ¥ w‘:l.d } (C)

13- 1R =((1,2),(3,4). (5, 6)), then range of R, s e &6 R IR,={(1,2),(3,4),(5,6)} /1 -13
{2,4,6}(D) {6} (C) {4}(B) {2} (A)

14- For y=2in 2x=y-6 , x=? x=2 &, y=2 £ 2x=y-6 -14
2B ~4(C) 4 (B) 2 (A)

15- H= (T/x) is called q_ruf Z(I /%) -15

ode »k (B) Harmonic mean Ll fry} @)
a@pakcﬁy °r9%’° Arithmetic Mean 44I(L> (D) Mean bl (C)
14-(D)

-(I)-15tA 124-48000
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General Mathematics Paper: 1 (u‘lf ¢« I @Jkd)“dﬁf ( 1587 124) 1 2l u’_l,; dﬁ
Time: 2:10 Hours Group ~ II .f;/ | 793 g 2:10 : =2
Marks: 60 SUBJECTIVE  Jwi 60 : U5t
Note: Section I is compulsory. Solve any THREE (3) questions (S)uf & (jf:. S (43 0 i Sl e
from Section 11. . * ég}' = Uly
;‘é pakcnty.org %c Section I J."'l.-'b
2- Write short answers to any SIX questions: (2x6=12) _é g/ublf/"ﬁullb*(s) Ic:..Jf -2
i- Find the value of x in the proportion 20:50::8:x 20:50::8:x ﬁé(:l”ul’urx ol
i- Express 7/20 fraction as percentage. ..cfé' J XU M(} g 7/20 / ~ii
iii- Express %:20 in its simplest form. o PotsS i=20 et _ii
iv- A person left a property of worth Rs 24,00,000. Calculate =i J sl J J lf b = bs /S I 2 ;f"’ .f ~iv
amount of share of his wife if he had not any child. St in -4 &f Up & ‘ﬂf -4~ ¢-4,24,00,000
- é r:L"‘ .JL u{ 2L L Sy
v- Calculate the amount of Ushr on a rice crop of weight £ J" J J:g rl)jf 3000 f J e & 24 J (‘jm S v
3000 Kg pr:oduced by artificial resources. If the price of e L 2000 c:-f J J o ! /Jg 40 5 d-'fb/f »
40 Kg rice is Rs 2000
vi- Calculate Zakat on gold amounting to Rs 11,10,000 -f r:"" uC/ J P ¢-4,11,10,000 =l J z_.rf ~Vi
vii- Find SP, when CP=Rs950, Profit=10% 10%=0 « &-5,950=450f G ZEphrasijed v
viii- Find the CP when SP=Rs 851 , Loss=8% 8% =l « L1B51= =i fud £ EE o, Pl i
ix- A boy bought a book for Rs 575 and sold it for Rs 320. oy éfu.‘.' 3575 L LIl -ix
What is his loss in percentage? @ e Y- 2 glF K U NN
3- Write short answers to any SIX questions: (2x6 4@5 .i ;}.:-,glz/"z.amr(s) 4':..(]/ -3

i- A man borrows Rs 1,00,000 for 3 years at rate %g@ Ui 16% & L Ju 3 ¢&-,1,00,000 ST gl -i
What is the markup he has to pay? ¥y 0l . S Lfc_-..f -& ¥ sl =

ii- Define income tax. @ & J/"J u’c rf -ii
<

3.00,000atthe Uy 751 < 02§ 150% ¢ ¢  2-23,00,000 _ii

jii- Find the excise duty on an amoun

rate of 150%. A
iv- What is difference betwe racteristic and mantissa? S O/ VUL L sl b Civ
v- Solve logy(x +1) =2 logs(x+1)=2 £ f v
vi- Prove that 3log2+log5 =log40 3log2+logS=log40 & =t -vi
vii- Write first two terms of a_ =3n-5 a, =3n->5 :qu.:a» J.’: =Vii
Viii- Find the Arithmetic Mean between x—1 and X+7 x=1,x+7 & (P hag? Vil
ix- Find G.M between -2 and -8 ..é': r}” b d yedU1"2 L -8 5 -2 .ix.
4- Write short answers to any SIX questions: (2x6=12) oL v (8) g0 -4
i- If C={1,2}, then write the number of binary relations in CxC. 2l 0 J Mudb Je CxC #% C={1,2} N
ii- Define compliment of set. gy 1 sialu £ 2 i
ii- If A={2,3,4,5)},B={2,4,6,8}, then find A=B and B-A. A-BixB={2,4.6,8},A=(2,3,4,5)./1 _ii

-é pt”' B-A .l

iv- Define ordered pair, also give an example. NZLINY P é i J T - \T)



u@pakmty org%
9.

v- Convert 20°C into °F. S JpUFS20°C v
vi- Define Cartesian Plane. _é i U( S~ u‘-ﬂb’ -Vi
vii- Define Range and also write its formula for ungrouped data. &yl ¥ L _zJ. L ol U's.a/C!' 2 ...gg/"" J = LV
viii- Find Median of 5,4,5,4,3,4,2,6 5,4,5,4,3,4,2,6 : & (b sls il
ix- Find Arithmetic Mean for 3,5,6,8,8,9,10 3,5,6,8,8,9,10: 2% p* Ll Jl> _ix

Section II ¢ D>

(uz/:,i 4 Ls7 y ¥l /:i 8 L D,
(@) Two angles in a triangle are 54° and 72°. Find the ratio 14 i & ot T2° 151 54° Lslin L el L1 (L) 5
of third angle to the sum of first two. e edyen L aA L ugin L 2
(b) The marked price of a ceiling fan is Rs 720. Itis sold for J 1 - & &3720 VS / é Ly e LI ()

Rs 684. What percentage discount is being allowed. 4 =39 ._,4.’ J é -« bk L> / =31) <1, 684
de 2 i-—"-fb' Jn—-‘.’gﬂ"’ £

(@) Calculate Zakat on gold of worth Rs 8,00,000, cash amount J:ld_u4 00,000 ('u'i; r.-.’_.uB 00,000 =/t J oy (1) -6
Rs 4,00,000 and silver of weight 50 tola (Rs 5000 per tola).

(b) Find out the compound markup on Rs 2,50,000 for ~UL-14"
one year @ 14% compounded annually.

iz (JY § ¢1,5000) J¥50 Usle
Ve prﬁ/ ¢1/2,50,000 ()

%O | ..z_’p‘v':_....ué C/

S

NN L7, |- 42,3500 =d S FEL L () -7
s charged, then calculate the amount of san ot r,lw‘ Jﬁ x 7= J u;h//L 50 <1 ¥ 116%

(@) The price of a bicycle is Rs 3500. If 16% sales

50 such bicycles.

(b) Solve with the help of logarithmic tab Q S S S £ A% ()
0.9876x(16.42)* | 0.9876x (16.42)*
(4.567)"3 (4.567)"3

(a) Insert three G.Ms between 1 and 16.

(b) lfU'-{1 2,3,4,5,6,7,8,9}, A= ={2,3,6,9} and
={1,3,6 7 , 8}, then verify that
(AuB) =A° N B°

...ér:l”haq,f}ufu_kﬂé 16 251 1 (L) _8
#A=(2,3,6,9)U={1,2,3,4,56,7,8,9).1 (_)
& =it JvB={1,3,6,7,8)
(AUB)® = A°NB°
(a) Draw the graph of points A(2,0) , B(7,0) and C(1,8).
(b) Find median and mode of the data 3,5,6,8,8,9. 10.

14-15*A 124-48000

&t UK C(1,8) 451 B(7,0), A2,0) 46 (i) -9
-Z (P01 ¥ 3,5,6,8,8,9,10 o (L)
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Q.Paper : [ (Objective Type ) 024-1% Annual-(9" Class) CAS s ) ipr iy
(Time Allowed : 20 Minutes) (a.;'.’f e ) 2220 =3
(Maximum Marks : 15) PAPER CODE = 5263 15 S

5...'!;"1./;:::..u'u;/l;z‘c.:d.l/z.d!f//(é(dl?- ZL—-J D.utCs¢ B ¢ Aull:’j.;bﬁdlr/ by
-?ﬂjr"blﬂ..«liuf.au’un"(ﬁ'_///uﬂd..f/[u:/ba;b:.-.f! i:/a..u'l./;b@/b.ab/dlbf

Note : Four possible answers A, B, C and D to each question are given. The choice which you think 1is correct,

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more c1rcles will result in zero mark in that question.

—-

: b3 d/‘ul/.ucf. 27 11 3
G.M. between 3 and 27 1s :

=

100X =33} o )
100+8 % adadein, Fnesdsped >u7ad N %Y
100 Profit % = ? where SP> CP :

100 X SP
| 100+ profit%

CP x profit%
100

i’ amount which is paid by bank on the
eposit is called :

Share of sonand  : .2 (_fu,ié;u:.:.-.:-‘m
daughter in an inherited property :

' :‘adﬁq/uwu’ 48%

Lowest form of 48% is

— @ R
100
- Characteristic of 5376.4 1s : é..-ﬂla K5376.4
J

dﬁjL—r fﬁ'/l @ Jg...-fml/ f/l/ d:- tb}_ﬁ{.d.& f JCL)"[’ rU:?Jca)

Excise duty Income tax Direct tax Sales tax The tax charged on all the taxable income :

Jnany LLx==2iny=2/

20% 10% Sh ® On a crop produced on artificial resources,
Ushr is deducted :

Forx=-2,valueof yiny=2x1s:
) ®

:;.y/hadi*u: 2\/5 71 6\/—
177-024-1-(0b_|ectivc Type)- 8750 (5263)

What 1s A.M between 6x/§ and 2\/3 S :

:JFJ/",;J‘}JJJ(LCEMJW

s
——

)
.
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Paper : 1 (Essay Type) 024-1" Annual-(9" Class) Go 8N 1: 24
Time Allowed : 2.10 hours ( 7-:/ e ) 210 1
Maximum Marks : 60 60 : A

(PART-1s12)
12 2. Write short answers to any SIX (6) questions : : off MY AL iy (6){:.(3[ 2

(i) Express the fraction —Z— as a percentage. -?5- : ig}’_ﬁ' u:»-'éf / (Jf g ()

-é(s"’" #Ukuéw’-»(}%u 72 g/ 4 L%y 6 » (i)
(ii) Find the ratio of 6 rupees each to 72 rupees per dozen.
(iii) Define inverse proportion. ATy Sus A (ii)
55T e 11,1000 1 (V)
(iv) Calculate zakat on gold amounting to Rs.11,10,000. )
e P Ina s 490,000 AS SIS S b lusd i @)
(v) Calculate ushr on rice crop amounting to Rs.4,90,000 produced by artificial resources.
(vi) Define inheritance. _é - /7 d/ =y (vi)
B3=0 L1480 spid B ped (viD
(vii) Find sale price when CP = Rs.480 , Profit = 3%
A 5= Lo T8 =i bln LS P 23 )ed (viid)
(viii) Find selling price when MP = Rs.728 , Discount = 5%
i 8=Lsf 151520 = 233l LS s Sln (ix)
(ix) Find marked price when SP = Rs.515.20 and Discount =
12 3. Write short answers to any SIX (6) questions % NI NY 4 /‘? L ey (6){::—6:( .3

(o
O%Q; _églu})(ﬂ &fb/l}jﬂldifﬂj::" 6,
(i) Difference between savillg account anwaccount.
K 16% yuteciss 200038 2r0fi Gid

(ii) A light price is Rs.2000. Fig es tax on it.

(iii) Define excise duty.

(iv) Simplify :

2w FS3sA5 Gid)
3 ‘5 éﬁ! (iv)

(v) Evaluate : X2 xx2 22 )
(vi) Whatis value of : fog 52.13 fog 52.13 J:-«E (vi)
(vii) Write first two terms : a,=3n-5 : o 9 2 & (i)
(viii) Define life insurance. Ly JSSETTY (i)
(ix) Find the 7" term of a G.P. 2, 8, 32, ---- T S2,8,32, e L3S ()

12 4. Write short answers to any SIX (6) questions : : 8 =\ /" L =y (6)4’4:.63( 4
..é.'r}v(AuB)uc yn C={3,4,5,7} < B={4,6,8,9}A={1 4,7,8} )1 )
() IfA={1,4,7,8},B={4,6,8,9},C={3,4,5,7) then find (AU B)UC
e BxAAxBInB={1,3}.A={3,5,6}/1 (i
(ii) If A={3,5,6},B={1,3}thenfind AXB,BxXA
(iii) Define onto function. -é..,ij /Tc,(ui‘c' o7 Gii)
(iv) Represent the point F ( 0, 7 ) on graph. e /;lF',.;JI/ SF(0,7) 55 (v)



(2)

-é‘l;}'u: oC S194°F csafursi (v) .4
4. (v) Convert 194°F in °C with the help of formula.

(vi) Define ordered pair. -J_é_f /3 d/ b it (vi)
(vii) Define arithmetic mean and write its formula. 24 U;"Jli,ulébég /F S bestdl>  (vii)
(viii) Find the range of data : 10, 18,9, 6, 22 gLt er ol (vidd)

(ix) Find harmonic mean of 2, 4 and 8. S Lol LAY 8 st 42 (ix)

(PART 11 9> )
Note : Attempt any THREE questions . _zf_‘..-:.guzf.auwd :..J)/ O

SEn kU Z bsI Ll L Eony §iTn NS Lu2/pELid5T6 (D) .5
5. (a) 6 persons can do ajobin 12 days. If 2 more persons are employed, how
many days will they take to complete the job?

ﬁfn_l;ﬁ-%!@’ ?ﬁgﬂf 2 ué(f{l-,ﬁn:.w)lgl&dn{;#’: 154.:»2@»4%’.{'/‘1 (,_:_, )
-l ?li;/_,:.«a’: YL OB
(b) If 15% discount on MP of a heater is allowed and still makes a profit of
2%. If it is sold on MP, what is profit percentage?

a3 o:jugfl_dbf)lglg‘fdt%u 45,00,000 é’%_u..gf;._gl (D) .6

6. (a) A deceased left a property of worth ..é r‘:‘” > Ja ) o yr-.
Rs.45,00,000. If he left behind a widow and two sons, workout the share of each.

-y r#éwsy’ L 1-;- e U2 4% £¢-2s50,000 ()
(b) Find the compound profit f Rs.50,000 at 4% for 1~ years.

2
Y usSi }L:G—C;Jlé%éfbug/qv% @O JJ&'L»JU.,{I ") 7
N

2 U312 302072

. O
7. (a) The price of a tricycle is Rs.4000. sales tax is charged, then
calculate the amount of sales tz @ such tricycles.

ithm table : - 'é&.}’f——utﬁuh‘f&f"w (‘-:-')
3.64 x3.94

N 2.78
- 3 3 3 3 3 3
_érll"'qu_'s HJ(-S-) ,(7) ,("9") """—".-L'L'd?’ (D) 8
3 3 3
8. (a) Findthe n" term of an A.P. (}_) ,(g-) ,(-3—) ————
5 7 9

AXB 0 f={(24),(b4),(c,4)}sB={2,4,6}A={abec}]/l ()
-%uig B JUA‘f S é:.:f-imyée’fr_
() If A={ab,c) ,B={2,4,6} and f={(a,4),(b,4),(c,4)}
is a binary relation from A x B, then show that ‘f” is A into B function.
EELSL C(1,8)#B(7,0)¢A(1,0) 16 ()9
9. (a) Draw the graph by plotting the points A (1,0),B(7,0)and C (1, 8)

Girs S FUin T(x-%)2 =1444 «n=15 Lu2ires /4 (&)
_é“)l”w.;}.uldl/.ldj.l:v

(b) Find the standard deviation and variance for a set of ungrouped values

whenn=15, T(x-X)*=1444 :
pakcity.org
177-024-1-(Essay Type)-3Sowoo
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Q.Paper : I (Objective Type ) 024-1" Annual-(9" Class) GAE )1 L2 4 ly
(Time Allowed : 20 Minutes) (s /179) 2220 & =
(Maximunt Marks : 15) PAPER CODE = 5264 15 A

pakCity 0rgA%OL‘—"’?U"JJLU.U’/“i‘-*-’ﬁ-L’LJ'-”f/L;Kd'-’,-wi"—J DCe¢« B « AuLb’ijﬁdlr/ rly
. ¥ Jydwuliu:(,bgfun‘dlL// uné.//fuyﬂml.;L-ﬁ_iJ/au@LLLﬂ/lJWJW

Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more cnrcles will result i m zero mark in that question.

— Questions / = uis

e b AU L —12 -3
G.M between—3 and—-12 is :

Profit is earned when : :)‘i‘;_rxd‘ bg

TP KILL P S0

The loganthrn calculated to the base “10”
1s called :

Common
logarithm

desALL S x Jﬁ e
Excise duty Income tax | Sales tax

Mantissa

:g.t'tl»:cc‘-t‘/ J"' 5&&331@!3545”5!!‘(

The summary statistics which measure the
middle (centre) of the data is called :

: ‘:'_.J'ﬂc_z/;g/( 8;( J’Eiv()
akat 1s deducted at a rate of :
t AS=27A={4}U={1,2,3,4}]1
If U={1,2,3,4},A= {4} then A°=?:

1234

wq":c...lc'_t'/)!('u’ _.C*/fJUrdl/g

The amount which is paid by bank on
deposits called .

l
| — in terms of percentage is: 4'.4)/’ e J -

%
3
Jﬁdu-’ nis @ U‘C‘ :u.?%f}@ c}:‘\/—j
Natural number Radicand Integer Radlca In \/— 3 is called :

(1,1) (0,1) el Lol ur
The co-ordinates of origin are :

e Vedag2,6,11,17,--—-
For 2,6,11,17, ----- , A5 1S :

d.t'ﬂlff(uﬁdf;i'r’J:Uﬂ ) u‘:wwu‘m%r

The share of widow in inherited

JJ(,VI

Principal value

.m

N
N
l
[W—

BN A ANB BuAdA @

If A and B are two non—empty sets, then
AUB = «---

lm_l

178-024-11-(Objective Type)- 15000 (5264)
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Paper : I (Essay Type) 024-1" Annual-(9" Class) GrsEN 1 2y
Time Allowed : 2.10 hours (s 159) 210 @ =5
Maximum Marks : 60 60 : A& f

(PART-I1Js2) )
12 2. Write short answers to any SIX (6) questions : : £ Y /z" L =y (6)4":..6/ ke
(i) Simplify the ratio -i— :% in the lowest form. _gu:‘fful,f/ —_3: : % (i)

(ii) If 82% of the houses ?fﬁu.?; uf‘;,:(f Um U /ﬁﬂiéf ?uxu‘z,:& s U3 /f 82% J1 (ii)

have a television, what is the percentage of the houses which do not have?
(iii) What is difference between direct proportion e OV AV A mesa (il
and inverse proportion? .
2t e A o LSS utinz 20 ENL U1 /11GiA S die130,00,000 st L1 L Gv)
(iv) A person left a property amounting Rs.30,00,000. Calculate the amount of his wife,
if he had not any child.

(v) Calculate zakat on sliver _ép""' i i) 1 71¢3, 300000 = dﬁlg/ﬁ (v)
amounting to Rs.300000. . ) .
(vi) Write the rate of ushr if the _,;éf Selbe sl ae /0 £ JLl ;’J (i)

land is irrigated by natural resources.
B8 =of ne1s 51520 =S fad B e e diit (Vid)
(vii) Find the marked price when SP = Rs.515.20 and Discount = 8%
o B U o5 Ut e 20 3850 i FUEL s 3450 FEAL Giid)
(viii) A bicycle was purchased for Rs.3450 and sold for Rs.38 nd the profit percentage.
12 12 =¥ ¢ Ly 26@&?3):‘2'.?5(:1”4/’:&3 (ix)

(ix) Find CP, whemsRleBs 2640, loss=12% Qbo
i %? :af =Mz A L ey (6){(’-6! 3

12 3. Write short #wers to any SIX (6) questi
L e -.‘;‘:.Q?uzz‘_é.;:_, ksl b LU fE st sd 10210 ()
00 M saving accot 10% profit per year. How much would we

(i) If we invest.Rs..
N SR D

have in one year
(ii) Define income t

025.00,000 =2 S HE w3/ 2375048 150 god S6LT i)
ave to pay on car. If price of car is Rs. 5,00,000, find the

?lfﬁg/(l)fﬁ J
(iii) 150% excise duty we
total amount to paid.

(iv) Simplify \/ (a*b’)° with positive indices. ey .:.;ifl;?;;lé /‘:" S J @*°)®  Gv)

I3 1 3 .

(v) Simplify : 28x28 28x28 2l A (V)

8 —— . 8
(vi) Simplify 2'61;(3; 10 and write _éuﬁﬂ}'u*lnsléﬁj:( 2'(?]?::;( 10 (vi)
answer in scientific notation.
(vii) What is arithmetic mean? Also write its formula. -é,«; v l}r;ti?ﬁ;.:l /y/ e b-s3% (vii)
(viii) Write first two terms of sequence a, = ’3?1 ..g[’;;nd?’rd/ a, = aln A (viii)
2n+3 i 2n+3

(ix) Find 5" term of a G.P. 4, -12, 36, ---- -E{i:(:l”qu_’::}:p( 4,-12, 36, ----- AAd A (ix)
12 4. Write short answers to any SIX (6) questions : :éagfifif L =y (6)4'5_6/ e
ZEeBAB T B={9,10,11,12,—20}U={1,2,3,----- 20} /1 (i)

(i) It U={1.2.3.----- 20} .B={9.10,11, 12, ---- 20 } then find BN B’
(ii) Define universal set. -é...é’/‘?g((.:{d"uf;’ derdeg (i)



akcity.or %o )
Gép fy-org _iph’ AxBdxn B={x,y,z }sA={1,2.3}/1 Gii) 4

4. Gii) fA={1,2,3},B={x,y,z)}thenfind AXB
(iv) Represent the point B(-=5,-1)on graph. _Eéﬁw{,J!ZfB(-—S,-~l).k'ﬁ (iv)

(v) Define cartesian plane with the help of figure. -Z%. En DI NAT )
ES S °C S127°F iyl (vi)

(vi) Convert 127°F in °C with the help of formula.
(vii) What is commulative frequency polygon or ogive. <l sl wen Z 5084 (vii)
(viii) For the data set, find the median : 6,2,4,3,4,5,4,5 : é r:l” :;LE/JK_L(L:I% (viii)
(ix) For the set of values, find range :é(:‘” ;}”é.ﬁ.:{ﬁu?.‘;’- (ix)
6,8,13,11,18,27,23

( PART -II rJ}uv"} ) )
Note : Attempt any THREE questions . - @Llﬁﬁaﬂlrcﬁ :_.df O

4 LA UEZL Ui 12 coralus 18 2 5560 U7 UL LesaSusE20 (D) 5
5. (a) A factory makes 560 fans in 7 days with the help of 20 machines. How
many fans can be made in 12 days with the help of 18 machines?

4 §2e ANSECZ e ¥ & 70 prtum2 e 03720 (L)
(b) Rs.3720 are to be distributed into three shares in Iy e uf'-TLfé_l,_

such a way that 1* share would be double, triple to the second and
5 times to the 3" are equal.

J’{;l?Jj(ugﬁC_-JU'JUﬂdjﬁéugﬂjﬂcjggg.agéz_;_’i.‘f?’b»gﬁ (M) 6

4 6. (a) Ifadeceased -& &3, 48,00,000 = : }:?;.’ £ éf}l”‘ =
person left a widow, a son and two daughters-calculate the share of each.
If the wealth left by him amount to, 00,000.

4 S LLNSaeclo LU /2% S20EG0 P18 S L 27500000 L1 (o)

(b) Raheel insured his

house worth Rs.75,00,
paid 1n 5 years whi

R AT

%0 A Sed S b St des
2% for 5 years. Calculate the amount
te of depreciation is 10% yearly.

250 <I19%16% L/‘Jufi‘fﬁ-g.é.msoo IS ) 7
bicycle 1s Rs.3500. If 16% sales tax is charged, then
calculate the amount of sales tax on 50 .such bicycles.

4 (b) Using logarithm table , evaluate : : éd’ :_.MJJ:,?(E K (<)
i;- x3.142%(1.5)?
4 _é(#»,d‘?ufu_vn[. 93 s 43 (D) 8
8. (a) Find three A.Ms between +/3 and 94/3
4 s C={4,6810}sB={3,6912}A={2,46}/1 (L)

AU(BUC)=(AUB)UC St

(b) TA={2,4,6} ,B={3,6.9,12} and C={4,6,8,10}
verify that AU(Bu()=(4w B)uC

4 9. (a) Draw the graph : y =2x+3 :ng/f D) .9
4 SR A1 62,3,6,8,11 sy (&)

(b) Find the standard deviation of the values 2, 3, 6, 8, 11

% S &P s N
DTN b U ssasy e 200000
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Number: 1261 i SSC PART-I (9" Class) L - |
GENERAL MATHEMATICS PAPER-I GROUPI b/ gy S _;»_l
TIME AI;LOWED:#ZP Minutes M U Itan BO a rd_ 2 @4 w20 = =
MAXIMUM MARKS: 15 OBJEC'{‘IVE_Q*V 0 5 = A

u,:irmp:_.,g.fi S A _L./;{- 2203 5l e a.r.:a.:.-l..o'v.' S )3 i J A9 PN i-‘é.u = ;dlrﬁ.;qy(}lﬁ -wiz';_..; D »C<B IA-.:.'.J_.lJ?,.'.-ur:Jlg L Jb‘,q 1
B’HJJ':J—I?UJ(JU: T o J:_-;}J ..-rﬂ;...):éf

You have four choices for each objective type question as A, B, C

I f." = 0

FEE. T

|

| of*

and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1
| Use marker or pen to fill the bubbles. Cwutting or filling two or more bubbles will result in zero mark in that question.
2 c B A QUESTIONS /ety SIS,
10 % 30 % 13 13% g | 0.13 as percentage 1s: 1
eSS 4200.13 _
- ' — - ;
p i P : % ® o 13 9 30 % in term of percentage 1s:
N %
"~ | If there is one daughter and agnatic 3
1 1 I 1 I 1 1 1 grand daughter their
2’ 8 27 4 2?3 2’ 6 ® share are: ..,r..fg.u:‘f,,z,«-u’ég;,f@.g
of sel oK it S |
) On a crop produced on natural resources| 4
20% 10% @ 5% 2.5% Ushr is deducted:
?4-.%;63% 194 S S et Cusdos
100 x SP CP x Profit | Profitx 100 Profit Profit % = 7, where SP > CP 5
100 + Profit % 100 CP ® C:P oy fods ,»_j‘:,fﬁéfr}*' % &
100 x ..'.:.-‘*.s/;:.—z . , 8’ x 100 C,J/J
100 + 43¢ *]-‘Téox & sFed i
Mark up Premium Bonus Profit The return earned by the bank on a loan 6
..,rl_JﬂL ® ﬁ;; S Cy bt "{@:
) ..L,'r.:...f_--u;_tv SRl 1245007
§ \ The form of tax which a buyer pays on 7
Income tax Sale tax Tax Excise a manufactured item at the time of
ﬂ f i Jg b -3 Lfg %" L~ @ | purchase is called: N7 Ll gé’uﬁgo’(
Y >4 .:..hq_bﬁ.:rﬂ LYY N
An irrational | A bompleﬁ'\ A rational J3 G 8
Integer number > ~ number
” . . @ . s \/_5;
o 240 Jﬁubt;f J.M(_)l’ti ) B :
Natural number Rational antissa Characteristic | In the logarithm of a number the 9
- Jas . .
R0 numbef Ludie o P decimal part is called: ,
s P R - AP IS Y Vi g
0 o 9 6 3 Third value of @, +n=3 is: 10
-‘;.Fjd/flf a, +tn= 3
443 943 543 23 ® | AM between J3 and 34/3 is: 1l
-:‘..Lr.!d‘,u* 3‘\[_ 3 s \/—'
B I T If R={(4,5) (5, 4) (5,6)(6, 4)} 12
(45 6 (61 51 (4) range of R="7
e | R={(4! 5)(5$4) (556)(63 4)}/r;
GsR=79x
Undefined Graph of equation in the form y=a has| 13
el nil @ 1 0 X co-ordinate:
B ...:i:...uf X .{,..Jlf L y=da et sl
Straight line Ordinate Abscissa Origin The perpcndicular distance of point from| 14
U I | T X ~ axis is called:
: ‘ | - L ..::.'..t'LP'( Lol fast a..z/ - X b’.MLf(
Mode Harmonic Arithmetic | Geometric mean Z ( X —X)= () is one f the properties 5
ol mean mean o sl

e T (x,~X)=0 |
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| GENERAL MATHEMATICS PAPER-I GROUP-I U/ Ug-g4 Uk
TIME ALLOWED: 2.10 Hours 1910 = &
MAXIMUM MARKS: 60 SUBJECTIVE 2% .0 | 60 = A£JS \
NOTE: Write same question number and its parts nuimber on answer book, as Elmt in the question paper. DEIN IR ey 7 d”_"_tf‘%l}[d'ﬂ-w-*? |
“Multan Board-2024  SECTIONT Ji» o
| Ze Attempt any six parts. 12=2 x6 vy L7 e 2517 4;_,‘3/ 2241
" ) 9 @ |

0 Express the fraction as percentage —% 0 A Satdd S

1 4 N 4 PR G
) Express the ratio in its simplest form -1-% : 20 '1—6' 120 AL TS e
(i) | Increase 40 books in the ratio 5 : 4 what would be the JJJJ O PARI R ‘:_;(40 SesfS: 4 | (i)

number of increased books? | NPETAP
(iv) | Calculate Ushr on rice crop amounting Rs.490000 ) F490POOO PSSP b= A @)
product by artificial resources. ! »
i “‘{f’h// ;!"L-h
“(v) | Who is Sahib-e-Nisab Muslim for Zakat? ﬂ__u ok Adolad L3 ol W)
(vi) | If a deceased left a property of worth Rs.1500000 J e 2s 1500000 stazsfi &% 2 ,__J" {1 f (Vi)
workout the property if he left behind a widow., T b s IS __1‘
(vii) | Find SP when CP = RS.126000, Loss = 5% S% = AT Gt a3y f et (vii)
£-3,126000 =4 Pt |
(viii) | Find the marked price when SP = Rs.515, 10% = oot B ot adriyn | (VD)
Discount = 10% ) -
d;..uS 15 == f?
(ix) | What is meant by business partnership? St et S | (%)
3. Attempt any six parts. ] 12=2 x6 WYY, ¥, i { 3 Ay
() | Find the compound profit on 4000 at 5% for 3 years. | @@u 4000 ;0o 5% L o3 | D
| -..:.._.[‘)I” |
(i) | A computer price is Rs.34800 inclusive of 16% sales tax Of /16"” S J) 2 21/34800 A (i1)
} what is the original price of computer? i% | ?.:‘:.._lfuﬂd‘u,(/ .:,.,J...;E_JL# ,.
" (iii) | Describe the definition of Excise duty. Sl U S 2L (iii)

Y | T 2/ 70 iv) |
(1v) Evaluate a%b"-" x a%b% B Q . }/b%/ X ayby-c‘:d' () |
V) Simplify and express with positf ices. %/(.‘1.'4 y*)™ \/ A 1')_3 S .....».._...tmsz: e (V)

vi . I 1 (vi)
) Simplify — y/ x 4 y% =¥ 37 x 4y7 |
(vil) | Find 1nd1cate term 2,6, 11,17, aq 2,6,1,1% —=——a, ,ér,bff fd’bﬁ | (vid)
v e o B LT O (viii)

il Write the {irst two terms. a, = i a, = -&thuw
2n—1 2n 1 —
(ix) | Find A.M between 1+ x+ x>, 1—x+x° 1+x+x 1--x+ x* et (1x)
4. Attempt any six parts, I 12=2 x6 W Yy {I1 yﬁm ,.3;_6/ 45y
(i) | Define complement of a set and give an example. J‘_lm S e iy /J ,_‘,J(U,. ¢) I
(i) |If A={& m,n} and B={3,5,7} thenfind 4 x B  B={3,5.7ymA={L,mn}Si| @D
-é:r:"" AxX Bis
(iit) | If A={3,5,7}and B={ x, y, z} then find B={x,y,z}ymAd={3,5,7 }_fi (ii1)
| Dom (f)- - -é}'}”cﬂ:}(f’f" I
(iv) | What is meant by origin and show on Cartesian plane? GEPIR Fuﬁd,*;.)[}:w St sl i | (iv)
(V) | (-5, —1)represent on graph paper. ) ey A(g_;}“;__;; S (=5, =1 | (V)
| (vi) | Convert 25"2’ into ° F . ) S SCF £25°C [ (vi)
" (vii) | Find the mode of the given data: 6, 2, 4, 3, 4, 5, 4, 5 K 6,2,4,3,4,5,4,5 Lr Loty | (vii)
(viii) | Find geometric mean of 4, 2 and 8. | _ ff’(” Lol 8l 24 i (vm)
(ig) | J__Wnte down three kinds of measure of centeral tendency. ! & et ABLNEITRS > | (ix) |




(2)

u@pakcity.org%a

SECTION-II pv_»

(B)

A shopkeeper gains a profit of 8% by selling a washing
machine for Rs.12000. If he sells it for Rs.10500. Find
its loss percentage.

=31/ e &2 12000 S Wi 4.21#.4753 ok
(,):rLJJ 10500 du;ﬁ-g.t'/._}"b&"yé 8 LS |
St e QNS NTE S 255

 NOTE: | Attempt any three questions. 24=8 x3 Py ST Iy 184 eS| e
5.(A) | 8 persons can do a job in 24 days if 4 more persons SLonJ S ¢}4 S /L;_u Jy24 /r(‘_g S98 1 (L5
joined them how much time they will take to complete ' S s
the same job? o Luds (KLY |

()

6.(A)

(B)

Asghar left a property of worth Rs.4,80,000. He left
behind a widow, four daughters and 3 sons. Calculate
share of each one.

How long would Rs.1250 have to be deposited at 6% per
year to gain Rs.750 simple profit?

71.(A)

(B)

|

e U152 S s 880000 Flp L1 S p
()L".-ﬂ?E‘ugﬂgﬁ:lg(fr_z_hfé.cfﬁbgjxtguﬁhg
4

- "

750 Brwle 4 U oWl 6% & L o e 0s 1250 |
el SELLL S Yo

(.6

()

If the total annual income of a person is Rs.6,25,000 with
exemption of amount of Rs.1,50,000. Then find the tax
chargeable @ 4.5 %.

Use logarithmic table to evaluate.

@@

8.(A)

(B)

r

(13.26)* x (0.4 <§>
5

| ;,:Ju-;.o@.s% £04T 2712 ,1,50,000 |

2o Gonsss 625,000 QuT oSS LS

-_ér#f

©
.u_'/d’c:..udvugfgjf)’
(13.26)? x (0.4564)

325.5

(N7

(L)

If 3 and 6 are two A.Ms b
b.

If U={},2345,6,7,8°5910,11,12},
A={2,3,4,6,7,8,9,10} and B={2,3,5,7,9}
then verify (AU B)© = 4° N B¢

a and b find g and

|

]

b“.;:l a ?'w;wd-"?: 63 w_l,»:z bsali
LS

Vil A={2, 3, 4, 6, 7, 8, 9, 10}
FEeinB={2,3,5,7,9}

(AUB)C = AN B |
|

(-8

| U={1,2,3,4,5,6,7,89,10,11,12} /i | (L)

9.(A)

(B)

Draw the ﬁga'es with help of the points on the gréph
paper. A(’]& 2)9 B(_69 _'3)9 C(Ss 3)

Find the standard deviation for the values
2,3,4, 6,8,11.

2l Je S0 s S o 31 S A1
A(7,2), B(-6,-3), C(5,3)

i

eSS L£2,3,4,6,8, 11 |

| (U9

()
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Paper Code 2024 (1%-A) pakci /-‘g,
Number: 1264 SSC PART-I (9" Class) | o o
' GENERAL MATHEMATICS PAPER-I GROUP-II |33 S (24 (fq, m. 7\
_ _ v _ *? <
TIME ALLOWED: 20 Minutes M U Itan Boa rd_2024 2 20 = =5
MAXIMUM MARKS: 15 OB JECTIVE(}"'J/" o | 15 = A

aJL.zc_.._ff -..."'_';/d.u#L/(.rL i 5k b ﬁuifwu.:_u’u:/bc’c‘:.:c_‘..lrﬁd'r'//lérd'-" -b[?‘Cf-JD »CB A‘-"“-"j"l"éd"'f 1 /:';(J‘J"
You have four choices for each objective type questionas A, B,C  £uudsb iy, 4../4/ Lkl a../,,f,f Us /s
and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1
_Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. :
D C B A QUESTIONS /=ty Sr.No.
Lxcise duty Income tax Sales tax Tax ' The tax in addition to the priceof | 1
dosid JE“f, ¥ | ¢ @ article is called:
-q.t‘tkfdgdwu:éftfz;’tf(
> _ 4 3 ) 2 ® Ja is called radical of order 2
UL 34 gl l o _,:;_mf Jie Ja
! 1 2] 2 [ 3
24 @ 22 2 \/5 =7
| | V2 =2
1 I
573 2\5 @ V3 | 343 A.M between +/3 and 343 is: 4
....{_..!v:d‘?b/ 3\/5 il '\/—3—
] l ; | ; Third term of a, =n+3 is: |3
o - i .
...{..HJG/:!'JCI" =n+3
A ® U A - ¢ Al =7 o 6
<g AUg="
(1,0) (0, 1) (1,1) oordinates of origin are: [ 7
% . -Lﬂﬁw’)ﬁ.éﬁl,&/
¢ BU 4 BN4 g <{$§ﬁ% | AUB="? 8
) AUB="7?
i A\
AM Mode G &*‘g H.M 2.(x—X) =0 is one of the 9
bt psle )/ ® | Losl £ U ' properties of:
| | | ettt 2 (x~X) =0 |
15:19 @ 17:15@% 19:17 13447 Lowest form of 75 : 95 is: 10
| ....;;_Lﬁqu 75:95
—2-—5- in term of percentage is:
35% 20% 28% @ 1% | 7
] L 25
1 1 ] 1 Share of widow in inherited 12
_— — O o —
10 4 6 3 property (having no child):
| (¢errmﬁu;l)ylﬁﬂglg{fmb’af
| Zakat on an amount of 13
20,000 15,000 10,000 5,000 ® | Rs.2,00,000 is:
- 8735 1,2,00,000
i How many types of business 14
4 3 2 @ 1 | partnership?
u:(UIJVJdJIJ:/ﬁ;
Mark up Premium Bonus r Profit The amount paid by bank on |15
A i 'l U % - deposit:  -<t./1 .:tf ;?...C-..rf WAV ,

35(0bj)(ﬁ'1ﬁ')-2024(1S‘-A)-aooo (MULTAN)



r ( JJ-?JJ %‘."?’J‘i

A A"

TIME ALLOWED: 210 Hours  NMultan Board-2024 2210 = <
MAXIMUM MARKS: 60 SUBJECTIVE 1.0 60 = AJ
NOTE: Write same question number and ite paris number on answer book, as given in the guestion pa per. .z J,u: 24 _(Mgw ﬁ) 2 o8 /,Jd,ﬂ,, ,4{4.,__,_,,1
SECTION-I J:!.-’ ) - i
2. Attempt any six parts. 12=2 x6 L oF ezl Z =d /1 2 iy
i I ) 1 (i)
(0 Express as decimal 16--‘5% 6 -2"% Ay FoIY
(i) | In what ratio 60m?® be decreased to 24m*? e (LR E ,24 128,60 U:“E"JU/ (iil
(iii) | Define inverse proportion. s s | (D)
| (iv) | Calculate the Zakat on gold amounting Rs.15,00,000. i G800 Lmdiass 15,00,000 (iv)
..,:_-.-.‘:fr:"";jr'"’
(v) | Calculate Ushr on wheat crop amounting to Rs.350000 o_1,350000 Cffi-J‘jJr Y. < s = (V)
| produced by artificial resources. ’ ) .
| | i * Yy
(vi) | What is meant by Zakat? On which rate, it is paid? e dbiiiet f"u’; Cosl o e85 | (vi)
(vii) | Find the SP when CP = Rs.9600, Profit=10% 1 d0%=C 8L renjed | (VD
i h—-319600 s J".;u"
(viii) | Find the Marked Price when SP = Rs.2400, Discount = 4% A = b [ 2 r,wu,s,yc,,, (viil)
i—-!l 2400 h-f}.’ " it ,
(ix) | The selling price of 12 articles is equal to the cost_price s Ea PS5 o fnd 5 16112 (ix)
of 135 articles. Find profit percentage. ‘ ) ) L J
3 Attempt any six pm:ts. | 12=2 %6 _‘é‘dwygély;i&‘j{ 3/5}d'1"'
(i) | Convert 5,00,000 PK rupees to Euro. - L ESE o 5,00,000 061 (i)
| One Euro= 112.4088 '
| 112. 4088—51{’..51 )
(ii) What is the difference in Property tax and [ncome tax? fe ) VAU f; ”Ug 120 (i)
(iii) | A computer price is Rs 34800 inclusive of 16% saleg;,t u_u’__‘___d__”:"q,goo JJ,_,.J_(] (11t)
C 44
| What is the original price of the computer® \@ oy §ong 45(-:-;’- JE )”]6% |
(iv) | Write in decimal form 1.345% 107 ‘ ) 1.345 x 107 Ut P e ()
(V) Solve log 200 + log 5 o <Q ]Og 200 + log 5 ‘-_‘l;gd’ (V)
V) 3y (4 (2 Y L 3N (4 _(21) .|
Solve | —| +|—}] X ( (_—-J 3 (_) ( ) -..4'—'»()’
: 4 9 4 4 9 16 _
(vii) | Define geometric seq«n@é and give an example. ey s | (VI
| (Viil) | Find A.M between 3+/7 and /7 -é}:‘-“»sd‘?uyﬁ.{. J7 w347 | (VD
ix | T T lavy B : (ix)
WK Find first two terms of @, = —1; a,= X -é.fr:t’” ey 3
4, Attempt any six parts, 12=2 x6 2L L e ,,‘g,z, i‘-‘y | 42 )1y
(i) | Write De Morgan’s Laws. ) uff" L3 LA (i)
(i1) | Define Function. S SSE (i)
Gl | f U={1,2,3,4,5678}and A={2,3,5,7} o U={1,23,456,728}/| i
then find 4° b ACIn A={2,3,5, 7}
(V) | Write the formula for the conversion of ° F' into °C.. _%JKL./CJ,E S SEF e |0V
(V) | Convert 25°C into °F. SR F £25°C (v)
(vi) | Represent the following pomt on graph E(4, 4) E(4,4) .2 6.0 S5 5t (vi)
(vii) | Define standard deviation also write its formula. ) iy i SE PSS A1 A (vii)
(viii) | Define Range also write its formula. T o 2 /?'J,_:,_vl (viii)
! (ix) ! Find Median for the following data. 5, 4} 5.4, 3. 4,2, 6erLir (1X)
S? 4! ,1 4? 33 4‘! 21 6 .
R _é}a,’-"":ﬂb‘/)(_# B




_(2)

- ) SECTION-II (5.0 - -
NOTE: l Attempt any three questions. ]-f24 =8 x3 _ é._‘ £F ez Cetrfedl | 2ol
5.(A) | Amna scored 46 out of 50 in Mathematics test, 64 out of 75 in S A46 < 50 S L Fliio T | (D5

a Chemistry test and 72 out of 80 in Physics test. In which : j )
subject did she perform best? 280 U S 164 < LTS u-fd/{ £4 |
SH R S LN LS A T2 = |
NIy
i ice i i . fit | . N "
(B) | Find the cost price if a fan is sold for Rs.1470, to get a prot1 SEGAL LSS 6,}_ (1) e | (il :
—th of its cost price. _ 6 4
6 pFed 5T et 23] Uk s 1470
et
—ee =2 . —e — 1
6.(A) | An amount of Rs.4,00,000 left as an inheritance is to be FunuisZ Ul e o L1 e | g__‘_f? L1 | (-6
distributed among a widow and four daughters. Workout the | PR ) &," T
share of each. Jﬁéug/;gﬂwl‘u hj.ru4,00,000 Sun
| ~E e
(B) | Find out the compound mark up on Rs.2,50,000 for one year | _; /1200 £ Jv L, ess2,50,000 | ()
at the rate of 14% compound mark up annually. | 7 °T R '
_E e AL S 14%
7.(A) | If a total income of a person 1is Rs.7,00,000 withLexe'mpted,r ¢ 77,00,000 ¢ ‘LTJ; S Lfi e ):, (_5];):7 |
amount of Rs.1,50,000. Find the tax chargeable @ 4.5%, T )
%@c:.b/d/ 4.5% I nesf §es,1,50,000 4
((7;%% e .r:J" Ipug s
F
B) | . : 77 |
) Using Logarithm table to evaluate 238 %3 S e JJM!L/JH | b
2 | 2.38 x 3.901
4.83
8.(A) | Which term of an A.P. 6,2, =2, ......., is 1467 Fi5106,2, =2, ooy I
| Yo — 146 | ()-8
(B) If {/':{1,2,3,4,5,6,7,8}311(1A={2,3,5,7} n;;f U={1,2,3,4,5,6,7,8} ﬁ
then find 414 and AU A4 s ANAS T » A=1{2,3,5,7}
e AUAC | (D
[ * ) ) o 11* 3 ) ) -
9.(A) | Draw the graph of y =2x — 3 E5 Ky =2x-3
i (-9 |
(B) | Find the standard deviation for the values &5 1 A1 Ao w2,
1,2, 3, 4, 6, 8, 11 T 23 4 6 8 11
i o ] ? > 3 2 > (hr,;)
u%pakcuty.org%o
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W Roll No S.5.C (Part-l),Aj2024 Paper Code | § Hﬂ 5
- | (For all Sessions) |

General-Mathematics (Arts) Objective) P ™" () W L2

Time:20 Minutes Marks : 15

Note: Write answers to the questions on the objective answer sheet provided. Four possible answers

1.1

10.

11.

12.

13.

14.

13.

are given. Which answer you consider correct fill the corresponding circle A,B,C or D in
front of each question with marker or ink on the answer sheet provided.

-q_’/ﬂa.ﬂl.Lq?u:d_fb:ah'?é_nz_/.fl?lK..,l_z..:/.u/'(,éb’dlﬁ..uzéca;.; DCBAMZ MLy s 129

Fourth term of a, = an— . 1S: <\ F .:u; 2da, = an__ -
1 1 1
— B — C — D 0
&) = (B) s © - (D)
Next term of 12, 16, 21, 27 : vci..yg...‘m 12, 16, 21, 27
(A) 35 (B) 30 (C) 31 (D) 34
IfU={1,2,3}, A={1}then U-A=7? U={1,2,3}, A={1}/ig&>»U-A
®
(A) {2,3} (B) {1,2} (C) {1,3} (D) @
(ANB)” =7 - (ANB)° =7
(A) (AU B)’ (B) A"UB (©) A"NB° (D) A"UB
Forx=1 in2x+y=6wehave.y=? ?Jng_-;sz e Ex=1t2x+y=6
(A) 8 (B) 4 (€) -8 (D) -4
The score which occurs most often in a set of data is called: duf U /,:L_}a...._.fut;lro; POy

(ﬁ.t) Mode sk (B) Mean Ly (C) Median (D) Geomeiric mean L1/~

Fraction form of 70% is: e L6 70%

S
(A) 7 (B) "/18 @ "1'79 ) "0
@ |

-ZZ- in terms of percentage 1s: % :q_nydJE%
By 35 % (B) . 7> (C) 20 (D) 20 %

On a crop produced on natural resources Ushris.deducted at a rate of: e VT FanrAs< /.,J’" Tl Bisdi
(A) 2.5% 5% (o) 10 % (D) 20 %

If there is one daughter and & orand daughters, their share are: Kl o Lot ..?..I:Jd' ,,z,:JJ_g,,a@,_,g
L Sem L © LI o L

Loss is there when: :ﬁg..t-nuuﬁ
(A) SP = CP ssjed=piei  (B) sp<cP esjei<sied
(C) SP=MP =31 el =~'-'—;’.'6JJJ;-‘#.§ (D) SP > CP =3y fed S Fed
The person or entity whose glsurance is being done is called: :wgf;.i’néw JA82 ,;gg_,_g"” 3
(A) Insurer &8 (B) Insured 541 (C) Drawer I3 (D) Lessee ¢
The tax in addition to the price of article is called: u?,f/ug deitedlzy”
(A) Tax ‘/g (g) Sales tax u—a # (C) Income tax .j-g ‘fl (D) Excise duty Jgi}f VL
InV3 . 3 is called: " 9wg_{g,f 31.}:\/5
(A) Radical Je (B) Radicand ¥ (C) Integer é' (D) Natural number P
In a™ , n s called: . i ta™
(A) Radical Je  (B) Radicand .4 (C) Exponent Vs (D) Base JU
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Time: 2:10 Hours ' : Marks : 6.
. Rawalpindi Board-2024
Section - I Usl
2. Write short answers of any six parts of the question. [2x6=12) E ezl ge 2
(1) If 82% of the houses have a television. What is the percentage of S il Lus Sas E 30 el LU 4 82%./) (i)
the houses which do not have? )
(i) What is difference between extremes and means? e OV e S (i)
(i) If a:b = 2:3 then find 6a : 5b 6a:5b& pin a:b = 2:3/1 (iii)
(1v) What do you mean by Ushr? What is the rate of Ushr on agriculture products? fe T 2 Mg S St pfe P (iV)
(v) Calculate zakat on a silver amounting Rs. 300,000. 2z r:‘*‘{; J(!Efj'{‘ul;ﬂ%-JJSOOQDOGJLJUﬁ%/G (v)
(vi) Find Ushr at a rate of 10% on an amount of Rs.100,000. & r:’*':JLJ /“' eandr L 10%.¢-s,100000 (Vi)
vii) A bicycle wa hased for Rs. 3450 and sold for Rs 3850. Find : ¢ s
oy the profit perc - ol or - G T U 50 R L3850 7 4 s345005, L1 (vi)
(vin)  Find the SP, when CP = Rs 480 Profit= 3% 3% =¢ *&-1,480 =pied Ggl (a3 ped (vili)
(ix) Find the marked price when SP = Rs 2400, discount = 4%. 4% = Lo es2400 ==l Gl (P2t (iX)
3. Write short answers of any six parts of the question. [2x6=12] E e lmge S 3
(1) Define mark up and also write the formula of annual mark up. - !Jr;lir'?l..f/t;uv;éigf - 24, ()
(i) A computer price is Rs 34800 inclusive of 16% sales _‘_,._Lr_..,.?._}‘ubf;_:/_.f_mﬁag K 16% LU e t34800=8 S 2od i i)
tax. What is the original price of the computer? T ' CT eaREE W
(1) Define excise duty and explain with example. & OveJomgl P S3AL (i11)
Gv) Simplify: Pl Z 2 (iv)
a
\

(v) Simplify: 33Xyt xxixy?xx®x y> A2 (v)
(vi) Convert into scientific Notation: 0.00000075 24 Lﬁﬁ}u""b-f it (Vi)
(vi1) Define arithmetic sequence and also write general formula for G. M. ? -_efu‘ U BJRK U et p e JAg% (vid)
(viii) Find the 5" term of a G.P in which : a=2 and r=3 N~ rJ"‘F ;Lpsd' 3 Ao (viii)
(1x) Find G. M between 4 and 9. -5 r:‘*’mq/-"u:%um (ix)
4. Write short answers of any six parts of the question. [2x6=12] @@ ~ZE 1Mz L ..g.:.df 4
(i) Find A® if U={1,23,-------20} ,A= {9, 10, 11, 2 20} ) (A" (i)
(ii) Find the domain and range of R if: R={(1,3), (2, 5) g2 e GontBdR (i)
(i)  Write commutative property of union of sets. % /. Y 8 Ibecif Ly Lyt (iii)
(tv) Represent on graph: %& wZ/; /.-LF,;J/ 4 .sﬁiz_,., (1v)
(v) Convert 20 °C into °F @ g S LF20°C (V)
(vi) Define Cartesian Plane . Q gty Sy UJ- K (i)
(vit) Define geometric mean. Ay JM'L};"" (vii)
(viii) Find median for data 5,4,5,4,3,4,2,6 g e bl (Vi)
(ix) Find range of : 6,8, 10, 14, 13, 12 & e (ix)
Section - I1 (93,42
Note: Attempt any three questions from the following: [8x3=24] .q/.;;’ ezl liyel U7 e LLits ~u)
5. (a) Ifthe stay of 12 men for 28 days in a hotel costs Rs 6720. & 1462 18T 12,6120 e 28Ut T 128 ALS1 (i 5

Find the cost for the stay of 8 men for 14 days in the hotel. ’ = oo
0z 1o el
(b)  Find the cost price, if a fan is sold for S : , ‘ 11, .
Rs 1470, to get a profit 'E_‘ " of its cost price. 'ér #arad &Felfeds /U L1470/, S é__fa_fd’ué’-ﬁ-s’y@g ()
6. (a) Calculate the amount of zakat on 10 tola gold and 40 tola 73¢2,80000e3 Sy B2 o d2d G s dda0mtr 310 (U 6
silver, if the rate of gold is Rs 40000 per tola and the rate of O+ 1Lr g-.‘;r (i .46& J: 4
silver is Rs 5000 per tola. - I70&-5000=4 S g
(b) At what annual rate of profit would a sum of Rs 680 will 3 . 7 5., &
increase to Rs 850 in 3 years and 4 months? el g amsotuads ore gussof mlisglot fans” ()
7. (a) The price of a bicycle is Rs 3500. If 16% sales tax is SUELL50217 0 16%L ;Jﬂ * A PRy, 50020 ALl (L) 27
charged, then calculate the amount of sales tax on 50 such i i o c/ﬁ & "
bicycles. G U et
(b)  Solve with the help of Logarithm table: 2'38::3:'901 Z L Jdugéf K9 ()
8. (@)  Whichtermofan A.P. 6,2, -2, = is -1467 te -1460 4555 6,2, -2, e 3T (i) 8
(by IfA=12,4,6} B={3,6,9,12} C={4,6,8, 10} then j C=1{4,6,8,10}.4B={3,6,9, 12} sA = {2,4,6}.1 (L)
provethat (ANB)NC = AN(BNC) (ANB)NC = AN (BN CYu st
9. (a)  Draw a triangle with the help of the give points:  A(2, 3), B(-3, 4), C(4, -5) e ba e sa J. Llﬁie—: (ih) 29
(b) Find the standard deviation of values 2,3,6,8,11 1 PO ()
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General Mathematics(arts)Objectivey ~ Group - II (g ) (u”ﬂ' ) LJz
Time:20 Minutes Marks : 15

Note: Write answers to'the questions on the objective answer sheet provided. Four possible answers
are given. Which answer you consider correct fill the corresponding circle A,B,C or D 1n
front of each question with marker or ink on the answer sheet provided.

SIS S Se 3t nl S b’.:,szw;:.ggg(‘_}m-wia;; D,C.B,A.;.-..y;z;@lgédw oWy

1.1 The company undertaking act of insurance called: ..u;r;.f ----- :;.iq.ab?.ﬁff J Lg/';ﬁm&'f 1.1
(A) Insurer uP (g) Insured 5241 (C) Insurance s.# (D) None A
2. Tax charged an owner of house is called ------ tax. .Lg;‘fug e [V ([ 2V ol P (VS Sy 2
(A) Income /f (g) Property J,;L,; (C) Indirect e nis g (D) Direct  ovinls
3. 7 iscalled: L7 3
(%) Radicand .4s (B) Radical Je (C) Rational (Pt (D) Natural number 0.4
4. The logarithm calculated to base '10' is called: SV, (‘? .ab":'écfd’ 10U L 4
(A) Mantissa L, (B) Common logarithm (? KIS
(C) Characteristic b (D) None S
5. For2,6,11,17,----—---- , as is: te el ast2, 6, 11, 17,-mmennmmmv .5
(A) 30 (B) 21 (D) 22
6. G. M of 2 and 8 is: @@ e hesl) 282918 .6
(A) 4 (B) -4 (D) 16
[ ¥, ¥ - ye— 0{\\}?% ANA =-———- T
(A A (B) 6 (O (D) Nome Ad/
8. Find domain of R if : Qé% —4),(5, —6)} :ﬁ_éf(:"“cﬂMR 8
(&) () (B) Q (o) (4, 5} D)  {-4,-6,5}
9. Perpendicular distance of a point from & lled: rf_.m(_ Y debiiosf < s? -y (s’ 9
(A) Ordinate 2537 (g) ¢ bscissa i (C) Origin 4. (D) Straightline ¢
10. The middle value of arrangedhdata in numerical order is called: e QU 2d6ad s tir s’ 10
(A) Mean ks (B) Mode 1"
(C) Geometric mean beshd (B) Median s
11. E% in terms of percentage 1: e o JMJ{E 11
(A) 35% (B) 50 % (C) 20 % (D) 14 %
12. Intheratioa:b,"b" is called: b pedS ath 12
(A) Extreme (i (B) antecedent eud (C) Mean  yies (D) Consequent AS o) ¥
13. Rate of Usher on natural resources is: ° el /J y-4 a.dmdm A3
(A) 2.5% (B) 5% (C) 10 % (D) 20 %
14, Share of son and daughter in an inherited property is: :4.;4JJL§J,1§-TU:.:}U; 14
(A) 3:1 (B) 4:5 (O) 8:5 (D) 2:10
15. The price at which an article is sold out is called: p L mmee elzbles gzl Sedy 15
(g) SP =3/’ (B) CP +7=4 (C) Profit 8’ (D) Loss s
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Section - I

Rawalpindi Board-2024 ,

2. Write short answers of any six parts of the question. [2x6=12] Iy Oy P I g 2
(i) iff t:ge"/l’: :;St;le students in a school are girls. What is the percentage ankru: w3 Sufiy Y 45 % LML JE L) (i)
(i) Define ratio and write its symbol. T g o Al (i)
(1))  Find the un-known term in the proportion x:3::60: 15 G dfx gx:3::60:15 (i)
(iv) What is meant by rate of zakat? Yol W U200 (iv)
i i T kP I 000MS SIS e s S 0
(vi) Calculate zakat on gold amounting to Rs 1,110,000. -4 p‘*’:ﬁ,;ul?né.u 1,110,000=48L /1 (vi)
(vii) Find the SP, when CP =Rs. 950 , Profit = 10%. ngess 950 = 43210 %8 B ptrasjed (vid)
(viii) ~ Find the CP, when SP = Rs. 100 , Profit= 33> %. w00 = odyjed 33- %0 G g e dubts (Vi)
(1x) A book is sold for Rs. 650 at a profit of 30 %. Find the cost price. w4 rP.»_ic.-EJ..,..Cf Jd:@.,ﬁg._.utssodbaydao.,tf.g (ix)
3. Write short answers of any six parts of the question. [2x6=12] WYY Oy Fd, FI ] 3
(1) :‘;l;il‘ ::e compound profit on Rs 54,000 for one year at 12% per ) 4" oo B Vel fa 1% L i nsa000 (i)
(if) Define direct tax. Give one example. e Linig Sy 7 Jug =y (11)
(i) A computer price is Rs 34,800 inclusive of 16% sales tax. fe el SIS el {-Jl-'ﬁfg K 16% Ut e £134800=3( 2 pd (i)
What is the original price of the computer?
(iv) Simplify a/s x gl L/ (iv)
- 25y /s )
(v) Simplify — JIA” (v)
20y /4
(vi) Write in scientific notation : 0.00000075 e dode (vi)
(vit) Write the first two terms: = 3n+35 g'_"r}'; wdf  (vii)
(vii) Find the A. M betweenv7 and 3v7 @@ S s L3VT . VT (vidi)
(ix) Find the 11th term ofa G.P. 2, 6, 18, —---ecemeveumn, 4’_}-}"'(' L1182, 6, 18, scsasmionmmen Mg (ix)
4. Write short answers of any six parts of the question. [2;@5%%0 Pz A L ,ga:..Jf 4
(i) Define universal set. @% Se s Wiy (i)
(i) IfA={1,4,7},B={4,6,8},find AnB and AU B. % -2+ AU BusAN Bix B={4, 6, 8} A={1,4, 7} (i)
() 1fA={3,5,6},B={1,3} thenfind A X B and B @ Z s BXAs A X BixB={1,3} « A={(3, 5,6}./1 (iii)
(iv) Represe:it the point A(6, -3) on the graph. A 2L ,,-LF,_;.JI/ A6, -3) 55 (iv)
(v)  Write formula for changing Degree Celsi egree Fahrenheit. e K S x LAl Y W)
(vi) Define ordered pairs. ety (Vi)
(vii)) Find median of : 5,4,5,4,3,4,2,6 2 P bW Loty (Vid)
(viii) Define mode. fel e nt  (viii)
(ix) Find range of : 10, 18, 9, 6, 24 e $tits  (iX)
Section - II (93 >
Note: Attempt any three questions from the following: [Bx3=24] .4/4/’ eM2letivrf <8, e titn =L
5. ()  The price of 80 shirts is 22000. What would be the price of 30 such shirts. vJ,,.-.-,ngu;e.faoudu;%uzzooo.-,z&ugiso () .5
O s dcowt o 0kt s 3 8 e i th P Iy G
marked price as Rs 8407 -7¢2:8408 42361 /16 1 7
6. (a) Calculate Zakat on gold of w.orth Rs. 800,000 cash of amount 5500 £ sl és) 400’000F /B9, 800,000=A05r (LD 6
Rs. 400,000 and silver of weight 50 tola (Rs. 5000 per tola). T i )
& #3524 (U7 2-2s5000)
(b) al:;l;ca :‘:1;1?: gfr-l(:.ﬁt on Rs 640 for 12 years is Rs. 384 find iy J(‘jb’?né..u%fl dol Stzgeneaoli (L)
* W E‘lﬂ?lltl}ﬁ;v ::.rrakgsc,ﬁlﬁl};: l:aetl;az:"epl:yFil: dRE.I;Og(rlopS:r day. 'égf"'# =AQS A1 el "’?”"200"';"';‘* Jhp6tnde () -7
(b)  Solve with the help of logarithm table: (25.36) 284: §0'4569) A9 P 1 L(‘? K ()
8. (a) Find the 30" term of a G. P. x: 1 -:—, it :gfr}"r." AB0S A0 () 8
(b) Provethat (ANB)NC = An(BNC)if: A={2,3, 5,;7:;‘5){}2 ,SB:{;,E,}S, 7} and :/r(AnB) NC=40(8 hC) LS e G
9. (a) Draw the graph of : y=x-1 LbaS (W) 9
(b) Find median and mode: 4,6,7,4,8,9,7,10 2 /r"l"”l‘ Mooy (L)
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PAPER CODE 5267 1548 w0l (Pa) Lz

RS (-2 4 Ld}&ﬁlﬁfbw&'lb/ Lolgerna u:beZ_:...J Ly /:4__{,}_ b’dlﬁ..u,?zé.JDﬂICrBan(_.lﬁ L zgédlr o
L e e L1 LSty PAPER CODE.452 424U A u;»rf.t_é Kdlﬁ-fﬂjrﬂ J:lﬁ.__..-rﬁu:( ke $ S Z /. d.»ULH_IJ( Uss sl
-~ {8 JLJ’ f K’Jx.ﬁ AP LJJJ‘-CJuﬁ ...L,r ﬁ{_,)‘ ..‘.«-’lbdfb,dfrl;u: ..:'«J:"J du‘ «J /(
Note:~ You have four choices for each objective type question as A, B,C anﬁ D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in hat
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

| (D) (C) [ (B (A) ~_ QUESTIONS [ Q-1
| -Léﬂ",&ﬂbﬁf-)( u’u_:lfﬁ 2x+y 6 whls | 1
G,0oe| 1,2 | @G,4 (4,5)
i | In the graph of 2x+ y =6 the X —Intercept is *
3 — XWX == LW
et ) G‘L" Ao/ o ’."ﬂ"" d’ | ‘}’l'il". X = = is called bl X = 2WX |
Ho— | Geometric | Weighte Arithmetic > w > w
| mean | mean mean ' . ~ ]
= Y- 0/ @ ce bl ie nth€ S e Lord busen | 3
| Range | Variance I Mean - Geometric The‘ I}th root of Ehe product of the values ofasetn |
- __l___r O I |  mean positive valuesiscalled N
| 17:%15 | 19215 i 15:19 @ 15:17 Lowest formof 75:95 1s "d_bﬁf’uwd/ﬁ 95 | 4 |
N s _ " i _ | I
| & 3 s .3 L & v o
] | | e WL ASAF 1SS B 7= | s !
52 @ 2.5% 104 r 25¢% AN mrtifriss ' | F
E T J - _
190)(.:51)-:.-3 f@f}@' U’ %100 | J,/_,J»/.;-..gﬁér}”/tj" | .6
100 + 1o L; C? CP X]}%%fft%l A7 u..»" A7 = .|
100 x SP S Profit | Pro[ it
Tt | e = <o @?_F _ .
el s f u.:rjd'qj. sy ?i %D LAESUmE /e | g
Principal | Rate Interest The percentage of proﬁt/ markup charged is called I L
U.?;’C;k | uz“gfu’?fl UJ?:U’E &Q@ fLQq a,l_c..t'/;uf['ig.»’sﬁ,bi.fu/uﬁ//dqub—u/ .8 |
The form of a tax, which a buyer payson a “
L 1831?_8 _— ~ rlncome (ax | Exciss G manufactured at the time of purchase is called ~
UV o w5l Vs Jio A | 9
Base Integer | Exponent Radical In4’, 4 1s called _ |
Ju & e o | Ve A ImudFia Sawita i | 10
Base Integer |  Radical Exponent if Ya is Irrational where “ a ” is rational, Then 2fa
is called | N
| ® ?ﬁ;.gfmqf"u_w;ﬁsml 11

|

V2 X 2_\/_2_ -22 ‘ _2\6 G.M. between | and 8 is l
a* + b2 =X} = Ut Il s, G b 1 | .12 J
F

++/a’b’ + . [— —alba 4

a . rr Ifa,GblsaGPthenG ?
. . ' EAR) =27nR={(45),(54),56),6} ] | .13
| e W 5} W | jrR={(49),(54),(5,6),(64)) Then Rang of R is
16 14 * - . quBu"B;:lzu’Afu‘ A x B_.iﬂjlﬂ(fyludl, 14
2 2 2 .i 2° @ | Write the number of binary relationin Ax B ,ifthe
_ | _ | | number of element in A are 2 and in B are 3 |
4,5 | (2,3) (0 O) @ (1,1) | The co-ordinate of orgin are Bl . {.__l 4|15 |

925 — 0924 - 20000 (4) c@pakcnty orggo
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Answer briefly any Six parts from the followings.

Express the decimal as percentage 1.39

Define ratio
Find ratio of 6 rupees each to 72 rupees per dozen,

Calculate Zakat on gold amounting Rs 15,00,000.

6X2=12

Calculate Ushr on a rice crop amounting Rs 490,000 produced

by artificial resources.

Define Ushr,

The selling price of 12 articles is equal to the cost price of
15 articles. Find profit percentage.

Find the selling price, when MP=Rs 728, Discount = 6%

Find marked price when S.P. = Rs 858 Discount = 12%

Answer briefly any Six parts from the followings.
Convert 500000 Pakistani rupees to Euro when the rate is
1 Euro = 340 Pk. Rupees

Define Tax.

Find the value added tax at the rate of 10% at the marked

price of a television of Rs 12000

Simplify and give answer in exponential form

Simplify and express with positive indic
Define rational number and give ex
Write first two terms ‘a, = (-1)"»"
Ifa, ; =2n-12 thenfind a,

Define Sequence and give example.

Answer briefly any Six parts from the followings.
IfA={3,5,6},B={1,3} Find AxB & Bx A

6x2=12

When three sets are disjoint in

the figureshaded portion represents.

IfA={23,5,7,9}, B={2,5} thenfind ANB=BA 4

- Convert 75 °F into °C by using formula
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Represent the point on graph A(2,-4) AQ,-4) -/ A 2= S )
If y=2x+1 Find y when x=0 and x =3 swx=3 J;lx::O,_ﬁ.ér;L" yiny=2x+1J1 (i
Find 6,2,4,3,4,5,4,5 Mode=? 6,2,4,3,4,54,5 ZE &l (vii)
Find Harmonic mean of 2,4, 8 bl Ly A8 4,2 (viii)
Find Range 2,9,3,6, 12, 8 2,9,3,6,12,8 ZEedr e (ix)
1 o AT, | | (Do &
Note: Attempt any Thre: Questions. 8x3=24 -q_’f £ f- Y e 04 ‘:..Jf:d.fi
5(a) A manager plans to produce 100 bicycles with the help L&L){”: L 1004.@6/ 21,8, de s J U125 /-’-' L1 (a)5
0of 25 persons working 4 hours da:ly. How many ﬂ': 2’_/6;7 4092_b/] rK,.:Uu Iy o };_‘:‘_wf s
bicycles can be made by 40 persous if they work
3 hzurs daily. o y _z"{t‘
(b) Aslam, Anwar and Akram eamed a profit of S &-112,50,000 = As K LIl St st (b)
Rs.2,50,000 from a business. If their investments in KL z9na:7:14 o Pl JES K /Ju;u: 1
the business are of ratio 4:7:14 respectively. Find the ] é{' o Cf
profit of each.
6(a) Calculate the amount of ushar on a rice crop of weight F _,J /"" Y ,Igrlf :b/ 3 000{; Lﬁ,ﬁ;émJ 2~ (a)6
3000 kg produces by artificial sources. If the Price of @ Ze o s 200024 d/ J,Lzrlf ;K40~?. 2§
40 kg rice is Rs=2000 O
(b) Whatis the difference between simple and compound O%%é&l?ub < 2Ul-5% 2{ = a2 ,25000 (b)
profit on Rs=25000 for 4 years at 5% per anum. %@ -ér!l”' I/ (‘,5(,-»}:3".[;1’
7(a)  Khalid works 6 days~week. Find his gross w@ 72_b U 1.»{%.:}200::.!/7_:‘:.?/ rl{ujéu: i (a)7
wage. Ifhis rate of pay is Rs 200 per d O -é{’b’ﬁﬂ'J‘;LJifo'
(b) Evaluate using Logarithm L, . 02 25'32:724569 -':i‘df‘rb" el / K4 (b)
8(a) Ifthe A.M between ‘a’and ‘10 is ‘40”. Then find value of a". &%, e 2’ 940 s 3 s Z°10° 519 N1 (2)8
(b) 1fA={1,7,11,15,17,21},B={11,17,19,23} and mA={1,7,11,15,17,21},B={11,17,19,23}}7 (b)
C={2,3,5} verify that -2 291 C={2,3,5)
(ANB)NC=ANn(BNC) (ANB)NC=ANn(BNC)
9(a) Draw the figure with the help of the following points -é—tf.y JbS bt S o tits  (a)9
on the graph paper A(7,2) B(-6,-3) C(5,3) A(7,2) B(-6,-3) C(5,3)
(b)  Find the variance for the values 1,2,3,4,6,8,11 1,2,3,4,6,8, 11 éf”h"‘-”-/’jw’”‘l—j@” (b)
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. Sargodha Board-2024
. .1 d,u -y o vy aﬁ V4 JJJU;'J;,;J'; uf,.g,;.‘"r‘j Is Bl ({ =#12)0924
BEESEN Y W) as st 2020-22t0 2023-15 ¥ [ LulbE

PAPER CODE 5264 5AF w0 (P FPLdz

e LIy A e il SN S A L hp sy S u:}béf:é.; e LLJiy Y AL Ql;’._uzié';.) DICBACME 2C e & Jis 229
.Z., b £.Ul Z:./( ¢ PAPER CODE.s»* 4 ,._f_u_;,,._.’lru’ ] }’ (U# cC(é b/LéLﬁ.’ K sty AN« osd O] ot JL/ .{f a.‘.aKL_L./ .{f.f u,;f 3004
- U U i v s iy P s 35 e §EE g S

Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
questton.Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheetand fill bubbles accordin gly,
otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is noraliowed

D) | © 1 (B (A) | QUESTIONS a1
Jv;!(,}/:’. b s - nsl | -%JU{&&’TU)JWO&/JL}::FY‘J)"J(_ 1 |
| Geﬁr:aertlnc s Median Mode ;I;hceaﬁléjdle values of data arranged in numerical order |
B 104 134 . , 30 13 Ll 0.gl3 as percentage is J&JM(} 0.13=71| .2
1 _3_ : %9_ ' i% @ _;_ | Fraction form of 70% is (ﬁ g / J 70% | .3

11 11 Wl o¥uivt ped At rzr$lpmd g | 4

I 1 | 1 1
2°'g 2’4 . 973 2’6 ® | Ifthere is one daUghtex: and agnatic grand daughters,
there share are respectively

}

bt

/G.:;_b'b.l:rdﬂlag .5

| edjedsiicd | S ety | Sdjed<pied | ol jedeapind

SP>CP @| NoncofThese | Sp<CP | Sp=CP | |
| | Profit is eamed when
» - — 1 i - . —
‘ VI OF L YW, A7l _g.dl‘fré.{gd,ﬁjﬁdf.ﬂf‘:agu .6
{
Marked Price Profit SP | CP . The price at whi%@mlur item is purchased is called
‘ . | T B I B ) B
' oy, ® " 4 L 37 | The Cu ‘en}iflalysia 1S "‘:»..'-‘5’ A J | 7
| Riggit _ El]at Peso .. ) __.__.-__.__LL e |
i O'A | I 9 @ | | -uj%f;.lﬁ(}lgd/u”zﬁ:lg?}_ﬂ(f?a’ | 8
Lessee Drawer Insured | Ei'ijfzrson or entity whose insurance is being done is called the

’ Lfg/’ cfg”{-flg { u'gumu ‘e -mif/uguiftf&g‘}%:}rryfﬁ 9

| Income tax Property tax &1@1 ecttax | Taxes ofthe form of duties, motor vehicle taxes are called
Vs :‘:_Jﬁ(_'jbl?/;; “ | &% 7 A l s{lZ+\/3—~rJ[§,ukab_fl\/2f+1/§ 10
: &
exponent Igﬁ;@gil Integer | V2 ++/3 isnotradical, because 2 + V3 is
L& o | 2 Uy 5 2 = o | ?u.ta'gf.»d/u-‘-/ﬁ”:’ﬁmf( A1
Mantissa chaer - Real part UheraciieiGy) In the logarithm of a number, The decimal part is called |
. l i . - e t—
- - 1 1
- 2da, =—os | 12
: 1 1l & 1 (2n-1)
81 | 49 7 1

+ Fourthtermof a, =

——

(2n-1)*
1 ?c‘:_.r-_lﬂ:/:dzu: 3\/-3- ! w/:—i 13

| A.M between \/-?: and 3w/§ 1S

443 943 r 543 2\3 @

BuAd | BnNnA4 | AR ) ANB=7 ;LJﬂui»r(Overlapping)J}’ﬁB HA /ﬁ | 14
If A and B are two non~empty overlapping sets, then
— : | AnB=7 .
S | AT b o dar | Ce bl U ebifosf s —x¥5s5" | 15
Horizontalline | QOrdinate | Abscissa Origin The perpendicular distance of a point from X-~axis is called

L

927 - 0924-15000 (2)
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Answer briefly any Six parts from the followings. 6x2=12 - vy /‘ =i Va8V d %’c;-Jf e A SStn 2/
Define proportion. - S /j i —t
Express of the ratio in the simplest form -32—' g— 3 5 ...J - (}4 TS s
It 82% of the house have a television, what is the percentage of u.‘."” u:?,:(_}f J=Us /f,wd 23 JUnEZ ,Jf UsU? /féz 2 J1
the houses which do not have? N1
Calculate zakat on silver amounting to Rs 3,00,000. ...‘F_f{ (31"‘ ?:'G{_Jf;yzé_uB,O0,000 .:(.'L‘f Yy k/ﬁf
Najeeb Left a wealth amounting to Rs 4,00,000. He left behind a ;ijé_lLJ |l A ﬁJJE_:_fé_JJfI-,O0,000ij
widow, while they did not have any child. Find the share of r'JL”' 2Ky J Lw’,.,j df ULLUU:’U’ g ay‘_f!
Najeeb’s-widow. _é
Calculate Ushr on a rice crop amounting Rs 4,90,000 produced ﬂi.:x4,90,000aJLJ J’" J (_J.Jlgljf J J’ ln:..('jlzj § r"‘f; {
by artificial resources. @ _épl”' F
Define profit. <g - S /7 i g’ G
Find the SP, when CP = Rs950 , profit= 10~ %% % 7S =950 L3/ 3;- 10~ fc’:'ryl""w.s/._u’ (v.

Find the marked price, when SP = Rs 515,20, Discount=8% eds ) ed=51520 & spb % =8 éf r:‘-"‘ =l 0o ST (i

Answer briefly any Six parts from the followings. @% =12 _u:/ R / A2 /‘v Ziz lé’a..(jf g = J_ 30 <3 /-‘ Jis

Define insurance policy. Of? -l _l._f c:..(j-f’ Lz (i)
Define income tax. S A8 u’g /l (ii)
The annual income of a flate is Rs 14,0 ~Find the tax B Ve ¢, ;J ~Ul-16% ..c;.'..%.ultl,O0,000 :a.;f ,.:-Ul/ur R ».J:i (iii)
payable at a rate of 1647 _ép&” uf (j_.;%

‘Simplify X = xh A +x7 é‘ /Ef (iv)

x'?y?
4

Write in exponential form 2

7..9
x'y -
y ..c‘l’.ulu.f(,pb"a::.d’ (v)

2z

3

10000. Write in scientific notation.

10000. 2022260 (i)

Simplify 34 %3128 4 x3/128 2 A (vid)
Write first three terms of @, =31+ 5 a, =3n+5 égr;";cf L,;f'(t_,( e Gviii)
Find G.M of -2 and -8 ~8 »1=2 Z'r:‘f:l"‘br.ad/" (ix)

928 - 0924 - 15000 (P.T.O)
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swer briefly any Si ¢ parts from the followings.

234,5},B={24,6,8, Thén verify that

(2 )}

3=BUA
23.4,5} and B={2,4,6,8} then find A-B,B-A

> Set and give example.
:sent the point A2 ,-4) on graph.
rert 97 °F in °C with the help of formula.
ne Origin and represent it in figure.
monthly Income of 8 persons 3000, 4000, 3500, 4500,

)0, 4200, 3600, 5400 Find their Arithmetic mean.

cfine Histogram.

or the data set 6,2,4,3,4,54,9,5 find the median

Part---:---—“-'—-ﬁ-wﬂ-l- II
Note: Attempt any Three Questions.
5(a). 8 persons can do a job in 24 days 1f'4 more persons joined

them, how much time they will take to complete the same job?

(b) Distribute Rs 200,000 as a profit in a business regarding three

8x3=24

6%x2=12 .q_’/4_/¢;§l£/z;[_i}?h§a—éf¢4ﬂd'_ibu _4/:;‘_]!:*‘

S IA={1234,5},B=(24,68) S @

AuB=BuUA

A-B,B-A Z 9 3nA=(234,5},B={24.68) A GD

_EsJemzEy ey (i

-’é_g/;w{_JlffA(Z ~4) L (Giv)

S OO LS EFA1F nalir s )

s faEs e (D

ST owlussTs  (vid
3000, 4000, 3500, 4500, 3800, 4200, 3600, 5400
bl Qb

sy S Giid

o s 62,434,549, 2r L (ix)

r.’)-----—----—----,vﬁ?
~J /. 2 /‘? s Lk c:-dﬁd.r?

L{L;:«-Jlﬁj),.g;a}/ﬁu:z,fd.'ui;mfrb’..{ljﬂs (a)5

o w S E KT

S @@El ¥ &-1/2,00,000 SSEIE ()

Cv 3:.‘-2-15.:--:.*'J

persons, if their shares are in the ratio 3:2:5 5 @O

_.?_f_’.: r:l”‘ :afld/ 28 Ll U~ ..:ﬁl,isdl.druﬁl,O0,000

distributed among a widow and four daughters workout-th 5 0f

each.

(b) Find the compound pirofit of Rs. 5000 at 4z
6 months.

7(a). The gross monthly pay ofa p is Rs 75000. If Rs 1500,

6(a). An amount of Rs. 4,00,000 left as an inheritance is:l tll@lJUﬁ J2E Ul e ,urm.,__ﬁé;:_.li.u"’ _{tﬁ (a)6

¥2yearsand O 5Ll 4 42,5000 L L6 2y fomar ()

e

371 SOOﬁ‘:E_z_u?SOOO 13,.:. TJ/._J,LJJ;'-Q (a)7

Rs 1200 and Rs 1800 are deducted as income tax, benovalent fund L}I_(}.J:l:d.:%ij: ¥ /l....;? Ale_3,1800291¢-2,1200

and G.P. fund respectively then calculate the net salary will take

home by the person.

8492 x3.72

47.82x52.24

: 1
8(a) Find the 30thterm ofa G.P x,1,—,...

X
(b): Verifythat AU (BUC)=A4U(BU C)

A={2,4,6}, B={3,6,9,12}, C={4,6,8,10}

. X
9(a). Draw thegraph ) =—

2
(b) Find standard deviation for the values 1,2,3,4,6,8,11.

(b) Evaluate using logarithum table

928 — 0924 -

'ffl"i—/f é—’-’ZJLU‘; u?’uﬂi._&,‘;» hs

8492x3.72 ¢ Py O
47.82x52.24 S

..-g{p'*‘ﬂu_::-;o&wq;x,l,l,... (a)8
X

AUu(BUC) = AuBUC)Jyulet ()
A={2,4,6},B={3,69,12}, C={4,6,8,10}

y= -.-x- 2’5{_51; (a)9
2 2

B 3 A1 A8123468,11 15 (b)

15000
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L22205.=09
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2-sD st C,BA=

Zs# il sk Je ke ke
157 (quihiy ] yud

TR IV
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Note: - You have four choices for each objective type question as A, B, C and D. The cheice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

13-124-1A-19000% % % %

— Quetom/eir B | ¢ ——_'or
. {Ina", nis called: - N :wﬁuﬁa“ Radical .k [ Radicant .. | Exponent ®V-s| Base U
2. |Co-ordinates of origin are: Ml sf Liar (1,0) (0,0) ® (0,1) | (1,1
3._|[oud=7 N - u=0® | U e | A |
4. |Rangeof2,3,6,5,7Is: et 7,5,6,3,2] 3 | 2 5 @ 7
5. |Forx=0iny=2xwehavey=? x=0.2z twdlyfy=2xcil| 2 0@ 4 | 6
6. |GMbetween -3 and 12 ist < badfulndl —12 413 +3 136 | +9 i 16 @
. e belfeet Y (x=%)=0[ bl bl o | bk | ke
| ¥ (x=X)=0 is one of the properties of: G.M AM | H.M - Mod |
|8 |FAndA°=?,ifU={1,23},A=(1} A°=?xA={1}U=(123t)] @ | (1,3 (1,2) 2,3 © |
9. |Simplestformof24:12is. - PooTf24:42| 210 | 1224 2:5 |23 |
10. |Fractional form of 70% is: _a.f'd/J 70% 7 -..7_ ® -1-9- L
_— i ‘ 110 7 1
| 11. |Exposed wealth includes: - JEUng 6| Gold & | Silver (s [Cashmoney _.» | Goats @ (tf |
l 12. ) Types jf business partnership are: :u_grulJ d;r{_-ﬁ } 2 o . 3_ . 4 r 5
13. | -u_?g./f(, ;L'[ JJ:"JJ.._E.JJ:L -/ & % 1 JJJ’ [ !
The percentage of mark-up charged is called: * 1 Rate 1 __Interest Principal
14, Characteﬁ§tlcs of 53.764 is: _4%.:15( 93.764.4 3 2 t 1 @ 0
{5 :+tﬁ:ld'6_ﬁ:£¢f¢;1¢f ..Q,; jﬁr J;.L_'a'uj é;{ﬁé W Jf ug fl { Jg )—"
* (The form of a tax which a buyer pays on a manufactured item
'at the time of purchase is: E ¥ @5 e Tax i | B r
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Section Bis compu|sory Attempt any THREE questions from Section C.

SECTION-B /».»

2. Write short answers to any SIX parts. (6x2=12) E PN ALz 2
i. Express decimal as percentage. 0.9 S d h iwa I Boa rd '2 02 4 0.9 25w taeds, L
ii. Express ratio in its simplest form. -2— : -1%- —Z- :i% LT =r i
iti. fa:b=2:3,findtheratio 6a:5b 6a:5b-£r}"?na:b=2:3fl i
iv. Define Zakat. Mention muslims who are ordained to pay Zakat? Se eI S5 imzE s PG v
v. Calculate Ushr on a wheat crop valued at Rs. 3,50,000 produced -ér‘ Jor 25 7 113,50,00061& J‘;Jl’ Y. 8,13. Sy
by artificial resources. _
vi.  Aperson lefta property valued at Rs. 30,00,000. [fhe hadno  U19s 405 WL ui-iiH cét‘;-u30,00,000:'élf~l.’fi—f Ll i
child then calculate the value of the share of his wife. b Ao Lsnl
vii.  Find the SP, when CP= Rs.760, loss =4% 17 ed=T60 Lo e = 8% LLE e 23 )d i
viii.  Find marked price when SP=Rs. 515.20, discount = 8% =33 ed=515.20 &ss e 2of= 8%- G edi Bt i
ix.  Define profit and write down its formula. 2y s K e yAis d" ix
3. Wirite short answers to any SIX parts. (6x2=12) _.é; Falig i-‘ L;lflzaaf 23
.. Write down the names of two major types of accounts. LAl M
li. Whatis the difference between direct tax and indirect tax? fe O/ u:ug b5 ;;ug ernls i
I Al SISO ool g BN OIS
V. Simplify. 2ab” x3a7b% %QS 2ab” x3a5b% A v
v. Evaluate. (3*)° +[9° x277"] % (3% +[9°x277'1-L£S v
vi.  Simplify and write down answer in scientific notatior s O‘ i;%gl 2 uﬁr’: ISz E S i
vii. Define geometric mean (G.M) and write do * A K imzE s PSS i
vili. Find A.M between 4 and 8. 22 (AL b n L8014 i
ix. Write down first two terms a, =nh+3 a=n+3 .efr}' s ol i
4. Write short answers to any SIX parts. (6x2=12) E i r ALz i 4
i. Define union of sets, give an example. ety JE Ly L i
i. State De Morgan's Laws. ST ESAS i
li. 1f C={1,2}, then write down the number of binary relations in Cx C. 2Ny lglmjbf‘ﬂ CxCinC= {1,2}/! iii
iv. Define Cartesian Plane. E e K
v. Represent the given points on a graph whose co-ordinates are given. B (3.2) B(3.2)-2L 6, 8L s v
vi. Convert 20 °C into °F. ZEJFLFS20°C i
vi. Define geometric mean and write down its formula. K Shadf Vil
viii.  Find the range for the set of data 2,9,3,6,12,18. o §18,12,6,3,9,2 0y i
ix. Forthe data set 6,2,4,3,4,5,4,5, find the median. | g oe¥5,4,5,4,3,4,2,6 rLoly X
a@pakcity.org?a =),




Note:; -

5.(a)
(b)

6.(a)

(b)
1.(a)

(b)
8.(a)
(b)

9.(a)

(b)

(2)
C’@PGRCW-OTQ%E SECTION-C jr.»

@+8) t AT Ly 1 -é; Jelzlelivel o0 i
Attempt any THREE questions. Each question carries EIGHT marks (4+4).

?JngﬁijB’iLL)’J‘ff)ﬂmu:ur"’rﬁl-w;b’;:&”j:..:.uL.:fd}.fﬂlSi L/Jb.gfdjb'-_l:l (a).5

A certain journey by a train takes 5 hours at a speed of 45 km/h. What will be the speed of the train to complete the same
joumey in 3 hours?

A sum of money is divided among three persons A, B and C at /B ‘E—J‘fdll’*; - _..,,JJlgg:sf 2 LLABACSEL (D)
the ratio 10:7:5 respectively. If “B” gets Rs 14 more than “C”

then how much.“A” will get and what is the total sum of money? 0 ﬁdf ¢ a8 m L 4';-“1 IATus Ju &s142” Jgc

Calculate the Zakat on gold of worth Rs.8,00,000, cash J?SOdﬁlg;,li_:A,O0,000F ;ﬁ:z’_us,O0,000aJLJ iy (a).6
Rs.4,00,000 and silver 50 tola (Rs 5000 per tola). -éf‘ Jarn s 4(J;‘_'; ¢_,5000)

Find the compound profit on Rs.600 for 4 years at 6% per annum. _ér,b’éw;g =y ;.;uue%izidwﬁ_ueoo (b)

If total income of a person is Rs.700,000 with exempted amount: 4___.,.:1,50,0004uume.uTOO,OOOJ,;T AL il V[ (a).7
of Rs.1,50,000 then find the tax chargeable @ 4.5%. ¢ c.EClger’bﬂl:-"ra.b SS8.5%7 s s?

1 l :
Prove that. 3/og4 +2log5 — ::’-I0364 - :—lz-logl 6=2 3log4 S— Elog64 - Elogl 6=2.Z=k (b)
If 8 and 12 are two A.Ms between ‘a’ and ‘b’ then find ‘a’ and ‘b’. @g& busta JUnbs*212.58u L but aJt ()8

If A={2,3,5,7,9} ,B={1,3,5,7} and C = {2,3,4,5,6} 0?@?3,4,5,5} MB=1{13,57}A={2,3,579 /i (b)
then verify that (ANB)NC =AN(BNC) % (AAB)AC=ANBAC) Lt

Draw the figures with the help of the following points et eSS o Sy 2 I S8 S5t (3).9
graphpaper. 4(7,2), B(-6,-3), C(5,3) (7>

A(73 2)3 B(—6: —'3): C(S: 3)
Find the arithmetic mean from the followi

vuslng [ile -‘é}‘:j”b;ld{,’ (U,Q'(:;B,;_,)J X =4 +—Z—-:—1—)— :_,-5/ (b)
X=A+ 22 ' n
= A4+==
n

184,191,172,168,187,18

6,186,193,195

184,191,172,168,187,189,196,186,193,195
13~124-1A-19000
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Paper : I (Objective) 1** A. Exam. 2024 ‘ Group I w9 | (,u) I oy
Time : 20 Minutes SSC (Part ~ I) <o 20 SRS
Marks : 15 Session (2022-24) & (2023-25) 15 o
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Note :
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Four choices A, B, C, D to each question are given. Which choice is correct,

fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling tw

0 or more circles will result in zero mark in that question.

X = m is called : :q..b‘lkf T=Mti£—tﬁ'- 12U
(A) Mean Value of Xq;X2,...Xy bl (B) Arithmetic Mean L,,,Qp. (D

(C) GeometricMean L-s!(} (D) Weighted Mean L-si(}Lis

Graph of Equation in the formy = ¢ has y Co-ordinate : e tnlis y oSS ALY y= cells] @

W 1 ® -1 © o™ c |
AUG =17 : . AUQ = (3)

A @ ®B B © A (D A® N
(AUB) =17 :

A A'nB" (B) A UB'e (C) _ANB (D) AUB |

agof 2,6,18,... is :

() 160 ®) 161 (© 1620 (D)

A.M. Between 6'\/§ and 2\/3 is ¢ ' -

A) _4V5e ® 3v§ (© s5vV5§ @

s e W3S ag022,6,18,...| )

R

®)

If n \/E is Irrational, where ‘@ ’ is Rational then n \/E is called
(A) Radical . (B) Radicand »if g (C) Rational Nt

B VAl Py a’ 6 Y oy

The Logarithm calculated to the base 10 is called :

(A) Mantissa L ST (B) s n Logarithm rg b4 JJKe
(C) _Qharactgristic M’Bﬂ L '. Natural Number ;ﬁd;ﬁ :

LT LT

.»J" L (D) Real Number ue@‘-‘;’ &

W B RSB 8

W LLE 0| @ |

The form of a Tax which a Buyer P
’ - i
(A) ExciseDuty (J937LEl Tax u’g ® (C) Income Tax Jg f/l (D) Sales Tax Jg b 4
3 Lol SO J inc . 7 _vales lax

R Y NIRRT (TN

a Manufactured item at time of purchase is called : |

The Company Undertaking the Act of Insurance is called : : ,;_Juz.ﬁ‘i'f J’f Luj 2P l;‘!&‘f
(A) Insurer 1”@ (B) Insured 3,1 (C) Insurance (/s (D) Insurance Policy 5* &uj..u‘-‘—’t

Profit % = ? where SP>CP :

Inesijed> el Sizkoy, O (1)

() = :d ® —L=x 100 ::-z X 100 @
() SPxProfit /=i C ) 100 x SP 100 X =55/ of
100 100 100+ Profit% 1004+ o ¢
Zakatonanamountof Rs. 200000/-3s 5 07 i34 he 1200000/~ (12)
(W) 600 (B) 5008 (© 50000 (D 500 ]

On a Crop produced on Artificial Resources Ushr is deducted at the rate of :

IR SN A PN AR o (13)I

(A)  s5%@ (B) 10% © 25% (@ 25 % _ |
InaRatiod : b ,“@” is called : D WV aterlSa bl 14)
(A) Extreme Jg«'jl (B) Antecedent o3 Tl X(9) Consequent a{f u’ ¥ (D) Mean s L
1 » 1

- is ¢ ‘ = 15
7 Interms of Percentage is 33 1/2% +J3JAJ : (15)
(A) 2 0. (m\ 1 o7  ~\ T PN .1 a !
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General Mathematics
Subjective

60 : ol yod L5 SSC (Part — I) o 2:10: oy

P yed fo
1°* A. Exam. 2024 | (5D 0L,y yo

e e i

LSS ety f 2 3 a0 2 2 e SIS F 2 P L2 (6 - B)L iy st B 24 Ny (P o fobland
Bahawalpur Board-2024  .c..;carsog/entimm 2dvs qsas

Note: itis compulsory to attempt (6 ~ 6) parts each from Q.No.2, Q.No.3 and Q.No.4 and Attempt any (03) questions from
Part Il. Write same Questian No. and its Part No. as given in the Question Paper.

36 = 2x%18 | Make diagram where nec?essary‘ o Jgﬂd.u/"’(ﬁj I (Part—1) Jjlea> l

'-"""-"-_“'hl-'—b-—--h—_-_-—_,_-._._h________

Express Percentage as Fraction in Lowest Form. 48% - ol SALUTS S as (i) 2/J»|
4. 3 - L}
Express Ratio in its Simplest Form. -5- a Z .ﬁ' d‘,ﬁ Wil s e (ii)

-ff_:rJ"’bHU?JJLﬁ{jé_u 150/- 2 /"-’.'6 .:"_31160/- (i
Find the Ratio of Rs. 160/ -~ Per Meterto Rs. 1 50/ - Per Meter.

Calculate Zakat on Gold amounting to Rs. 15,00,000/ - R AL AT P A | &9 1500000/~ (iv)
_ir)"” /y 4 & 6,00,000/ - Cf' LJ" J (J:!g VAP Az cfus L}Jﬁ (V)

Calculate the Ushr on a Rice Crop produced by Natural Resources amounting to Rs. 6,00,000/ -

Differentiate between Ushr and Inheritance. -é AT} 8 A J7 (i)

Find the SP, when CP = Rs. 950/~ Profit = 10% . -4/ = =950/~ o B=10% 5 Zebresifod (vii)

Differentiate between Profit and Loss. -ég 0 el ol 8’
—=Aiped =858/~ Las o wof =12% B Zod it (iX)
Find Marked Price, when SP = Rs. 85 8/ -, Discount = 12% . @
Differentiate between Fixed Account and Current Account. A )u: 22560 a2 S ot aoskl 46 (i) 34Uy
-é(:l"‘;/g #4 @l Y 50,000/~ =8 Aok < (i)

A Computer Price is Rs. 50,000/-. Find 16% Sales Tax on%@

<
-
[ ]
L[]

T

I —
e e e T e e T e L e L e e e e e e e ¥ b 1 e
B e —————————

Define Personal Income. @ A SANT (iii)

Simplify : Q‘w : & 42 (iv)

Evaluate : AL & : 2 (v) |
If log x = 2.0374, find X, e X Fa logx=7:0374 /1 (vi)

Write First Two Terms. a;, = n+1 ol ¢99) & (vii)

Find A.M between - 3, 7, el nl=3,1 (viii)
Find the 11® Termofa G.P 2,6,18,. .. e loynilS 2,6,18,... g (ix) |
Prove that AUR = BUA if : A={a,b,c},B={a,e,i,o,u} : /fAUB=BUA '.’:"5:4& (l) 4/:;;_)!:-'
If U={1,2,3,4,5,6,7},A={3,4,5) A (i)

then find A" = 7 e A =)

Define Bijective Function. ZE S uyj :;té' di (iiii)

Express the given Point on the Graph whose Co-ordinates are given. A(2,~-4) -éj;u: 4 1SS .bﬁid__: (iv)

Convert 80°C into Fahrenheit “ °F ”. St “%r” L 80°%C (v)

Find Median : 2,3,4,4,4,5,5,6 : ér’:l"‘::lbﬂs (vi) }
Define Histogram, A1 rlf w7 (vii) |
Define A.M. and also write Formula for Ungroup Data. ey Ui oty iss ) 2 o Ay kil (viii) |

Find Range for the given data : 2,9,3,6,12,8 : éfﬂ”&“gﬁlrzt’:,; (ix)
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1(4) 12 £ Ut80 EUP a6k et 75 U 2L B P Aa6 et 50 S LT (W) By
ods oS g At Sl LS A

Amnascored 46 out of 50 in a Math Test, 64 out of 75 in a Chemistry Test and 72 out of 80

in a Physics Test. In which subject did she perform best?
(4) =ditnet 1S idl I 0P ads 16 netol§ ek ad s gedtn 1 LN (W)
AT
Ifa 15 % discount on MP of a Heater is allowed and still makes a Profit of 2 %. Ifit is sold
on MP, what is Profit Percentage?
(4) e i3 (73237 5000/=) 7 50 4 st &1 400,000/~ Bess 8,00,000/- LSy (W) 64U
Calculate Zakat on Gold of worth Rs. 8,00,000/ -, cash of amount Rs. 4,00,000/ - and Silver
of weight 50 Tola (Rs. 5000/~ Per Tola).
(4) PO L Lo 15 2 Up o0 4% 440 50000/~ (o)
Find the Compound Profit of Rs. 50,000/ - at 4% for 1 -;- years.
(4) -é,»,bvg K U3 50 21 9n16% L}JJg X i g ess 3500/- =ASE AL () 740
The Price of a Bicycle is Rs. 3500/-. If 16 % Sales Tax is chs % then calculate the

amount of Sales Tax on 50 such Bicycles. . @O
(4) Evaluate using Logarithm. @ _é ,J’ gy d/ rg Ky (,_,)
= x 3.1 (1.5)3

3
(4) Insert three Geometric Means betw _‘iryl"‘ de/uf Uend 6 s 486 (IN) 84U

(4) Wil AxB L g={( 3,y),(5,2)} s B={x,y,2} A={1,3,5})1 (&)
etE B A g 2t I n
IfA.={1,3,5},B={x,y,z} and g={(1,x),(3,y),(S,z)}isaBinaryRelation

from A x B. Then show that g is A onto B Function.
(4) Draw the Graph of : yv=2x —3 : g S (1) 97U
(4) -ér)"’ le()_l? 19 l%.ér d:dr.“; d/ U’ﬁ} w/ | d’" by~ U;’ LJU':UE’I;UV):.{[» 50 - (J.#.q (u)

Find the Arithmetic Mean for the distribution showing marks obtained by 50 students in

Mathematics in the Annual Exam.
Marks | | |
y.ni 20-24 | 25-29 | 30-34 | 35-39 | 40-44 | 45-49 | 50-54

15 i 9 2 i

| Frequency | ] B
e 1 | 4 | 8 11 [
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General Mathematics @ O06-

Paper : I (Objective) 15t A, Exam. 2024
Time : 20 Minutes SSC (Part—-1) :
Marks : 15 Session (2022-24) & (2023-25) 15 T PV

-#% pakcity.org ¥z

a/b.nhf:.:..g,)tu:./bé:.c..n::.ﬁdlrd l/....r(f / Q(dl.?u‘ :/"U"f H‘JJHT/ uli(f _de..JD CB-A -....-Ll.?;leé:dlr VAR 5_.'
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Note : Four choices A, B, €, D to each question are given. Which choice is correct, fill that circle in front of that question number on thef|
Objective Bubble Sheet, Use marker or pen to fill the circles. Cutting or filling two or more circies will result in zero mark in that question.

—_— e —————— - C — e —— [rP— e —————— . —— et 1} g e e

: a.wz,/Jd/J//J"u’Jch_éwa 1/J1r

e mrem——— e ————— e —

o ——— —— - —

On a Crop produced on Artificial Resources Ushr is deducted at the rate of : (1)
A S5%e B 10% (@ 25% (D) 25% ] {
LowestFonn of 75 ¢ 95 is | o - . .‘L.‘_fb JVTJ 75:95| (2 FF
A 15:17  ®  15:19e (0 19:15 (D) 17:15 L
g-interms of Percentage is : : q..gFU(A‘}J % (3)
A 3% ® 1% © 3% (D) 33 ~%®

Share of only Single DaughtermI;hented PrOperty st o L.-?u" =2 7 (f i .Cl a—’/“' Al @
w : ® ; © I ® ;e

” ) ‘ | * ;géfu‘g:____;.l“:.t'bkﬂ}’ bc'..-:méégb.? = 29 ‘"“““(";)“"

Tax charged on the Owner of Flatiscalled  Tax :

(A) Properw L}/L/. (B) Income u.sT (C) Indirect rlinls / ‘Ql u'ect ....w-'bal/

0

The Periodic Instalment to be paid by the Insured is called ¢ % u’tc;f :( b u‘( J 3l i.u Zu#| (6)
(A) Bonus u" 1 (B) Discount s (C) Prem1 gg}'? (D) Markup ....A.Jfrl.

Cost Price = Selling Price = : : —)!..J ..m/._.d’ (7) '

(A) Proﬁt UJ (B) Dlscount :‘7 (C) L({i;% (D) Ncme tf’ Ljf

In \/— 3 is called : wq":);.?nu: V3| @®

(A) Radical i (BS Radican (C) Integer y” 5’ (D) Natural Number L4 du-?

A. M between 5 and 15 i : LL’JG‘, UVJJA: 15 .ul 5 (9)
(A) 5 B) 10 © 15 ‘@ 75| || N |
Next Term of 12, 16,21 ,27 is : : 1012, 16,21,27) (40>
'.(3) 34 B 30 © 31 O 32 | |
Write the Characteristic of 6350 : I _ ﬁ‘ ¥ 6350| (1 1)
A o ® 1 @ 2 O 3 . ) _
AUG = : : AU@ =| (12)

D A ® o © u M ane_ﬁu-‘? 3y B

(jllﬁ( i1z /uba..,.../u.".':ly‘u/ R u-d’ 03| (13)
The Score which occurs most often in a set of Data is called :

(A) Mean by (B) Median -y (C) Geometric Mean 4~/ d/' (D) Mode wb

If2x-y+6thenforx lwehavey=? : P oy= ?:..r.“:z x-1?2x y+6f (414)~
A 4 ® 6 © -4 (D) 8

P (R)=7 I R= {(5 4), (s 6) (6 4)}/ 15)
IfR={(5,4),(5,6),(6 4)]thenDoma1nof(R) =7 :

@ {54} ® {641 @ {56} ® {456}




Session (2022-24) & (2023-25) | Group II .o | 96~/050 D a9
General Mathematics | ;s 5 gyam. 2024 | @itn oL, o>

(Subjective) _
60 : olpeas L5 -lc"'.:.q.\"Z:lozdg

eSS fpn o8 eSS4 F M2/ a1 (88U ettt B A irs B AJir 2 AJir B o §blond
Bahawalpur Board-2024 -«tszsdrSas v finm A (dhz oS F et

Note : itis compulsory to attempt (6 -- 6) parts each from Q.No.2 , Q.No.3 and Q.No.4 and Attempt any (03) questions from
Parfll, Write same Question No. and its Part No. as given in the Question Paper.

36 = 2x18 | Make diagram where necessary. LS F s oz | l (Palll:- D Jildeo> I

1 - - ;
Express Percentage as Fraction in Lowest Form., 375 % LDy LS UTS S i (i) 2~J1»
Find the Unknown Term in the given Proportion : X :3 :: 60:15 :érﬂ”:fﬁ'r’:l"‘l: Stz (i)

SSC (Part —1I)

|

Calculate Zakat on Gold amounting to Rs. 15,00,000/- e 3F 55 4 r Lo & a01500000/- (i)
ST g1 B J‘]dui_xd-‘ b U303 Ay ;’ (iv)
Define Ushar and what is the rate of Ushar on the Crop which is Irrigated on Natural Resources?
ediped = 858/-Laned =12% L eedibin iz (V)
Find the Marked Price, when SP = Rs. 858/~ , Discount = 12%

1 ¢ u : 1 — i
Find CP, when SP.= Rs, 1755/, Profit = 12 "2'% L b fed=1755/- &3 ¢ ('5I= 12 E% .?é(:"’.e,]a»ﬂ (vi)

Define Marked Price. LE A r.;" 2 (vii)

" (G I 100) 2 pTun 4 BF T KIS RIFLG S (viili)

4
If = of the Students in a School have been away for a Holiday, how many in every Hundred been on Holiday?

5
ek P Iness 490000/~ ASESIRTE S v lusss~ i (ix)
Calculate Ushar on a Rice Crop,amounting to Rs. 4,90,000/ - producoa@ﬁéial Resources.
s tootf 7S S i a,_,m(@%n et 5% LLeaddo e /i (1) 34U

What would Borrow in Rs. 174/~ as Mark Upat 5% in &

Define Excise Duty. @
O

Define Personal Income.

Ay AN VIT e (1)
Ly S waT s (i)
V(x* y3) 3 D pucictoizagdZ  (iv)

Simplify and express with Positive st‘#ﬁ

Solve : @ log 0.00003 25 (V)
Solve : (2 )—1 + (55 ) x 625 2 (vi) i
I Write the next four terms of the given Sequence : =152, 12,405~} -£r5; Ao J?J&Zg,; (vii)
IFind the 5 Term of 2 G.P. 4,-12,36,. .. e g fL S Y (vili)
IftheA.M. between @ and 16 is 24, then find the Valueof @. -ZEp#*=df @ In 24937 K 160 @ 1 (iX)

Find A-B,if : A={2,3,4,5},8={2,4,6,8} : i A-B (1) 44Uy
ifA={-2,1 ,4},ﬁndtwoBinaryRelationsin A. ..é;:jm;.:él:fuu: AJsn A={-2,1,4} N (ii)

Write down De~Morgan's Laws. ..é.¢/" 19 LUCI. s (i)

Represent on the Graph. G(0,7) LG S (iv)

Convert 113°F into °C. e °c L 113%F (v)

Define Conversion Graph. 2y S SE7 (vi)

What is meant by Moving Average? el Yo' bestS, }' (vii)

Find the Range of 2,9,3,6,12,8 : Zepror (vili)

Find Geometric Mean : 2,4,27 P ZEe bl (IX)
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A Car covers 90 Km in 2 liters of Petrol. In how many liters of Petrol will it cover 225 Km?

(4) #3:5:3 @gﬁu:ur"éul.ééﬁ LSS 'y 33,000/~ 2 As K L1 (W)
Distribute Rs. 33,000/ - as.a Profitin a business regarding three persons if their shares are
inRatio3:5:3.

(Q) -LIF Uk S i & of e o LB a1 L1 e S =dh &9 4800000/~ ¢S (L) 64U

el S Ll pl g
Akram left a property of worth Rs. 48,00,000/~. He left behind a window, three Sons and
four Daughters. Calculate the share of each.
(4) _ér:h’ O/ 8(:#}:'5&{1’1 b <L ;JUI/ 5% 4__’..2.:.».4,.!(/ 4 s 25,000/ - (W)
What is the difference between Simple and Compound Profit on Rs. 25,000/~ for 4 years at 5% p.a?
(4) <t 7 7 Qblrisd L ss3000/- 4&? NG et SV e ass 430000/~ wuTt F§ () T4
N EATEL et 4.5 %
The total Taxable Income of a person is Rs. 4,30,000/ o | g@iven rebate Rs. 3000/ - on l

the Tax chargeable, then workout the amount he h@?@? an Income Tax @ 4.5 %
(4) Solve with the help of Logarithm Table. % ..i;f P J Jrw / K ()

(13 (0.4564 )
oggszs.s )

: G gt Ly (L) 84U
r=10,a,=100,a=1

(4) Find the missing element of

{4} _‘c’;!@JJJI (o) JUI fJL;lJJGBfJJ?A={-2,1,4}ﬁ ()
If A= { =2l ,4} then write two Binary Relations in A. Also write their Domain and Range.
(4) A(7,2),B(-6,-3),C(5,3) -JhJ& /L fdl/l‘/.{,ﬁdl/f}lﬁié.‘? () 94U

Draw the Figure with help of the given Points on the Graph Paper.
A(7,2),B(-6,-3),C(5,3)
(4) Find Standard Deviation of the Values : 2,3,6,8,11 i(:b’dlf (Yokar K :!rzfe: (W)



GENERAL MATHEMATICS PAPERCODE-5267 | wJz]

GROUP :FIRST | 9" CLASS 1" Annual 2024 J¢ U 3 k|
TIME : 20 MINUTES ST R FRCHRNONM 220t Dy

TOTAL MARKS : 15 [l OBJECTIVE PART (f°3 15 AS

3> Ol & 2 =iy o (S U P10 é’:&___: & L7 p 430012 L Z.sDusiA,B,C =iz £ P O
Ko s MRS IS i SLS 3 T LS (S o) e L s A e L TA S 2T

NOTE: Four possible answers A, B, C and D to cach question are given. The choice which you think is
correct, fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or
more bubbles will result in zero marks in that question.

e

DG Khan Board-2024 LA

If A is non empty set ANA"=? ANA =29 sserde A S| a
ANQ (D) A’ (C) 1 (.B) A (A) |
If y=3x thenfor x=2 y =? y=2 Jr x=2 .f;/y=3xﬁ | -2
2 (D) 3() ®6(B 0 (A)]
X(x; —X) =0 isone of the properties of < bl Y = S E(x;—x)=0]| -3 |
Geometric mean Al 3/ (B) @ Arithmetic mean Asil> (A) |
Mode sk (D) Harmonic mean ksl Ev'4f (C)
The simplest form of -3— : % is -%fuvfd' ; - -:-;- | -4 ,
17 : 15 (D) 9:10 (C) 10:9 (B) 15:17 (A)
What is value of x if x:3 :: 60:15 x:3 :: 60:15 ,ﬁz’_fr;l"aftfii 5 |
: 13 (D) 14 (C) 15 (B) 12 (A)
a@ paKCIty.F)rggm Ve LfJ:‘fJﬂ»;é,-u 1,50, @ J" erf((lfb,a,-; e Ol -6 |
Ushr on a wheat crop produced on Natural resources amountin ,50,000 is ?
£20000 (0)  ® £w15000((€))" 4w 5000 (B) 410,000 (A)|

In an inherited property the share of widow is @ (A er G aUst) @ K ogz L o4k s L1 ; 7

oy |
~ (D) o B pm
The price at which a particular item is purc el il $a7 4 =d L 7 S N| 8

Profit C\MPeditin(C)  SP =5j=i(B) @CP 1i=d (A)
_};_J/blf;{?ﬂﬁ?;:w?dnftﬁ-@ | .9
A machine instalied by the o dispose cash to customer is called
Card reader 4,36 (D) @ ATM F-'léé_l (C) Scanner ﬁ (B) Computer )::,f (A) |

stn s = U/ U15% 9 5t &9s 60000047 Wb o 22 LN | 10
If the annual value of a flate is Rs 6,00,000 then the tax payable atarateof15% is ?

@
-1 91,000 (D) 23, 19000 (C) 2429000 (B) <32 90,000 (A) |
v v ; 4 r
V\/i= ? T = -\/\[i 11
1/ 1/ @ 2
2 /4 (D) 2 /2 (C) 2 (B) 2 (A)
J2 + 3 is not radical , because 2 + V3 is L0 2+V3 Sl e S e LIV2 43 12
Rational number s4 J"t (B) ® Irrational number mu"'l: /.-? (A)
Exponent |/ = (D) Integer number & f; (C) l
INaG.P ;= cieeeceeennnnne - I P, ut..l-«l'c}/"u.‘(r-13
ar™! (D) ar' (C) ar (B) ar™? (A)
ag of 3,7,11, ————-----emmmm-m is ag=? & 3,7,11, - | -14
20 (D) 2 (@ 18 3(@A)
AU(BUC) = (AUB)UC . AU(BUC) = (AUB)UC | -15 |
Associative law (i =’é (B) Commutative law Jip» =26 (A) |

Intersection of sets b" 0¥y (D) De —morgan law »U wCL U3 (C) ’




l\GENERAL MATHEMATICS 9"‘ CLASS 1-“ Annual 2024 ‘/Lb?/l U;LJ d/‘Z

GROUP ; FIRST U MEEIENHARENL | se: qu g

TIME2: 10 HOURS @ B SUBJECTIVEPART Ao | ux1022 : 5|
LTOTAL MARKS : 60 __,_‘_E‘W___J____ B PART-1 dglmas 60: /JJ{

Q. No.2 Write short answers to any Six of the followlng 2x6 =12 -c’.{/;j ....w,i’ L:Vl{ a.d/ Z/JI:-*

o DG Khan Board-2024___ o
| Define Direct proportion. S ek (i)AI

| SV L d A S Tun W? 45% < & B L JE N i)
| If 45 % of the students in a school arc girls. What is the percentage of the boys ?

| 20kg , 5kg 2 (P =P L P oLl e s Bpn S s S| () |
| Find the ratio of first quantity to the second in its lowest form 20kg , 5kg n '

_2E e Y 42 423,50,000 &L J"Jr.d'u:- Il e Ous S | (iv)

| Calculate Ushr on 2 wheat crop amounting to Rs 3,50,000 produced by artificlal resources.
Calculate Zakat on Gold amounting to Rs 11,10,000 -é‘r:"" 35, L Ui I 911,10,000 = JL.rfl (v)

- S Coan S Ut 7o 308 2 § = 21, 15,00,000 sl sg LI &F & L Y LN (vi)
| If a deceased left a property of worth Rs 15,00,000,work out the property, if he left behind a widow ?

Define Loss. -é-—é’/’ d s | (vii)
| Find the CP ,when SP = Rs 672 , Profit = 5 % oot = 672 oo, B=5% 5 2 o 27 = | (viii)
| el tn 2728w, LA=6% 8 L P 28 2d | (iX) |

_ Find the selling price ,when MP = Rs 728, Discount =6 %

Tt 8. - 4w

Q. No 3 Write short answers to any Six of the following Zxﬁ 12 ?_fxq’ulli’/‘!ﬁpl?l{ c:..J/ 3 /dlr‘

i Differentiate between current account and saving account. WU/ B0, IS L O 11 IS (i)
A fan price Is Rs 34800, Find 16 % sales tax on it. -2Z (# o3 V& 16 % 4UT ¢ 24,34800 = | & 01| (i)
Define Direct tax. {\{&7 -Z'z'_gf J‘fg =Assts| (iil) |
Simplify Y2727 % Vz7as o 2| (iv) |
solve 524 x 228 @@ s x 26 2| O |

| Iflog ¥ = 4.4236 then find value of x(\\\ © 2 b oI x I mlog x= a.az36 Si| V)|

| Write firsttwo terms a,=n+ a,=n+3 _g r’!'.: ) &4 , (vii)
Find A.M between x° +x da’ —x+1 e gt s L Fhx 1o X —x+ 1] (viii)
Find G.M between -8 and -2 ..2,{.‘(:"’ sy R -8l -2 l (ix)

Q. No. a4 Write short answers to any Six of the following 2x6 =12 é,;;’..-.-..y.z,f’é.lzw .::.-Jf 4 /:},Jl,r'

Define set and give example. ..ﬁ.:u‘-'dt'».ul é.._g/’ J._p_w] (i)
| E b 2d A I A=(3,4,5} mU=(1,2,3,4,5}.01| (ii)
[ 1fu={1,2,3,4,5})andA={3,4,5)then find A° |

Z ™ ANB s AUB JIx B={7,8,9,10} » A=(1,2,3,4}.0 | (iii)
f A={1,2,3,4)and B={7,8,9,10)} find AUB and ANB

g e i W B e o 0 B S

Draw point A (-3, 7 ) on graph. 2 S A(3,7) 85| (iv)
Define conversion graph. ....2;2'._&!; J._jlfllj" (v)

. Define Cartesian plane. _é._:l/: JU’;:-* o< oy | (vi)

| Define frequency. ..2{.._3/: J:p’ (vii) 1
Find modeof 5,4,5,4,3,4,2,6 S 0l ¥5,4,5,4,3,4,2,620 &ty (uiii)i

| Fmd harmomc mean nf 2,4 and 8 - -éryl" Jml Jy A I’B.uld 2 l (ix) 1

L el W cim— = ¥ -y " T T - ——— iy T —--—u—n_‘_#



Part — Il (1 -4

b Y \ 7. .
NOTE : Attempt THREE questions from this part §x 3 ....-E;":..J.::.-lilr O &—J'(-—-U:-*'U" O
I PR R e IR
N, r F g A 770 £ b 25 U W e e 18 u, p.ﬂ' 63 £.¢ 14 | (;\) 5 » f)d,,,

l

i 14 Cows consume 63 Ng of hay in 18 days. How many cow will eat 770 Kg of hay in 28

days at same rate ?

T e vl ok iy s edpasiiiies o

b T o

(el ot e Ot o (€ e 21317083070 167,200 LU ef L) S ! (B)
Throe members of a firmm distribute the profit Rs 67,200 among themselves in the ratio
7 What Is thea b:qw_; ost %H:&m af the prof’t

e & e

e 300 4950 I (eI E S T Y I U 20,000 aug SRS = BudiiSil (A)-6: AUir |
" 1f the wheat crop is produced 30,000 Kg Natural resources calculate the amount of Ushr if ;
the price of wheat is Rs 950 per $0 Xg 7 if

W wla S e S
-

I o e Db ML L A1 - = 3P ai- 4% ¢ L 50,000 | (B) !

te | »»

! Find out the compound Profit of Rs 50,000 at 4% for 1-- year. ;

j.w—.m e e S Semmma e R e e T S el e - S S— 8 e sl o T g ) s R e B, s e et By ———  —li

-.._.u500 U‘). uﬁ-‘ ~ w1500 ¢ )Ltd‘:’ . ._.u3500 J‘)“Ub :'l/ <-1218000 gy (oLt JU‘“ \_f' I (A) 7 .ﬁ’dlr’

{ L(ﬂ%i'- St Jd" 1 ?ﬂi

Cslculste the grass monthly pay of a person if his basic Rs 18000, house rent .
Q%mnco allowance is Rs 1500 |

. W opeoms g B . ] -

sllowance is Rs 3500, dearness allowances is Rs 300

and Madical allowance is Rs 500 ? @

g@ S SO s y £ 7] (B)

“ ‘ti‘\ l

+.83

i T T e e L L el o L T e — - s

te 236 0 W 6,2,2,— J—Ld*,(A)-s-/Jdlr

is -146 ?

FEEE e i b L ‘m*"“‘m‘“'mﬂ-‘mwﬂl‘“er L]

Whichtermof AnNAP 6,2,-2,

i
i
i
‘

)

(ANB)NC=AN(BNC) - 3= =t »x €={2,3,4,5,6}B8={1,3,5,7},A={2,3,5,7,9) /1| (B)

f A={2,3,5,7,9},8={1,3,5,7} and C={2,3,4,5,6)} then |
: verify that (ANB)NC = AN(BNC)

g e

g

IR T ol T e

S " — - i i — g

r=2r-3 A SS Vit d b | (A)-9 : Ui

%

|
|
i
;
i
:
1

i Draw a graph for the given equation v =Jv-3

| - (> ol sl 8 ¥ 3,5,6,8,8,9,10 | (B)
Findthe medianand mode for the data of 3.5, ,6,8,8,9, 10

[ —

- ——r—— R e p— = S rwmmnan " i e — r—

- - e e | e PP W s & A
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GENERAL MATHEMATICS | PAPERCODE 5264 L

| GROUP : SECOND 9" CLASS 1% Annual 2024 U | 1w i@y

| TIMIE : 20 MINUTES BT |10 A0 U000 O G 2220 &
TOTAL MARKS : 15 [s] OBJECTIVE PART (3.0 15: AF

S b L A sy e Us A é el L7 JSi4 b’dli’ U] Z Z-sDslA,B,C =\l B Jk Iy 4 s el

-fﬂxﬂwuliuf.uﬁuzﬂcfu}/uﬂ!_ //u:/iuJL}c.uﬁ_q’:J/:_u# Lﬂl.fub

J

NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is
correct, fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or
more bubbles will result in zero marks in that question.

DG Khan Board-2024 | -/d'r
If SP < CP then the loss percentage can be found T (,J"' Qo I =3y od < F =d 2 | -1
CPx100 4/=ZX 100 Lossx 100 uwidx100 @
u@pakmty org%e Loss L cP = A
Loss x 100 ;:J:)x ::0 (D} S. PL::SOU .:-.-:h).::; X 100 ()
The person or intity whose insurance is being doneis called - J ! n Jl, J L)J;r’l J e 21 .j"" | .2
Lessee (7 (D) Drawer J4 (C) Insured 5,571 (B) Insurer u¥1 (A)
Tax of the form of duties , motor vehicle tax are called -t 2;':’: S u‘g e d" J L}(J:)rc el 3
" Income tax Jg fi (D) Property tax u‘g Jdxlg (C) Direct tax Jg L (B) Indirect tax Jg A1) (?\) |
In45,4,iscalled _wqffhﬁ 4° | -4
Radical .ir (D) Integer s» 5. (C) @ (B) Exponent /=9 (A)
Inv3 , 3is called ....u:{.fB L V3 ‘ >
Natural number s (.49 (D) Integer s 55@9% Radicand »4 (B) Radical ;.y (A)
Fourth term of a, = (zn-l- 02 IS -q—f JU‘ —%l{ dn = (2,1_1): o
@@ L D) @ (B 0 (A
A.M between v/3 and 33 s & | Tq_ [{M d" e 3V3 V3 | 7
93 5v3: (C) 243 (B) 43 (A)
(AUB) =? . f= (AUB) | 8
® (D) (AN B) (C) A“UB® (B) A‘N B° (A)
If R={{(4,5),(5,4),(5,6),(6,4)} domain R=7 LsR=? Jx R={(4,5),(5,4),(5,6),(6,4)} A9
(5,6} (D) @561 (O {a5) (B) (46) (A)
Co-ordinate of origin are > Bl bl dar | <10
(0,0) (D) (1,0) (C) (0,1) (B) (1,1)(A)
The middle values of data arranged in numerical orders is called -< OUf =8 (o J" 3 Ry S L’/ | -11
Geometric mean b}/ (D) Mean AL (C) Median ks (g) Mode wlb (A) |
Fraction -5— by changing in percentage we get ~ & b J’b e LS J& A y(} I's % / -12
45 % (D) 30 % (C) 40 % (B) 35% (A)
Fraction form of 15 % is -é- ‘P d/ J 15% | -13
2 (D) Yo & Z w
If there is only one daughter the share in inheritance is ? T8 o =P I ot § LT I A | -4
> (D) ‘o w7 A
The ratio of son and daughter’s share in inherited property is - dot =d L U’ & &‘u;l & 2P | -15
3:2 (D) 2:3(C) @2:1(B) 1:2(A)




GENERAL MATHEMATICS | ot" cLASS 15t Annual 2024 Lﬂ((f{ |

i

GROUP : SECOND

TIME 2 : 10 HOURS mism SUBJECTIVE PART Sl 2

PART - | Jsl ~ax DG Khan Bogrd- -202460:

TOTAL MARKS : 60 _fi]

AJS|

Q. No.2 Write short answers to any Six of the following 2x6 -i .;j AR /3 Ry { Z ;.Jf 2

Ay

| Find the SP ,when CP = Rs 1540, Loss =5 %

st L et S
BP9 T RO
_J(FJUVJJLJ;:JL.:; 72 ST L &8 s

Find the ratio of 8 rupees each to 72 rupees per dozen.

L o ¥ T 4 40 8,90,000 BL U S U TS U =
Calculate Ushr on rice crop amounting Rs 4,90,000 produced by artificial resources.

..zfdu U/ P S s 18
2 583 4 Ut 90 49 5,00,000 A Ly Sl
1P ed=1580 Lo, A= 5% £ ZE B 3] o
c:-i:/;:'.-z =2400 & , L =4% R .‘;é'r:h’caz 24> T3
Find the Marked price ,when SP = Rs 2400, Discount =4 %

Defme profit and write its formula

8%
Z 3

Express percentage as fraction in lowest form

Express ratio in its simplest form

Bus s i

Differentiate between Zakat and inheritance.

Calculate Zakat on Gold amounting to Rs 5,00,000.

-é T A 1V PL é-—d/’ Jﬁ'

(i)
(ii)
(iii)
(iv)
(v)

s e = S e e T BR

(vi)
(vii)

(viii)

|

|

(ix)

Q. No.3 Write short answers to any Six of the following 2x6 ..é’f ,(f AR /‘? Py { g a.d/ 3 /Ulf

=

L2 S S 2 L o g 06 S 339, 50
is 1 Pound = 397 Pak.Rupees

C% _i’._y/,fggé,u
..é’:r)l"(f'JlJF?ﬂa’_-HlSOOOLJCHJ/@§ q_b’bWLﬁ)’ 16 % 4!.)2’)&

A sales tax of 16 % is imposed on television. If the ma rlce of the television is Rs 18,000 ?

Calculate the sales tax payable. (@%
V2700 A L P Ved rmE

45, 1=397 & L
Convert 50 Pounds to Pakistani Rupees when the currency rate

Define Property tax.

Simplify and give answer in exponent form V2

Simplify and express with positive indic

2 J& .‘:é‘._i’; JJJ;U"'IH?
"-371; -#’r}'m (,k#

Define mixed radical and give an ex

: 1
Write first two terms a, =

Find A.M between x —1and X+ 7

9
(323) P YT Yd (v)

-ir:l"’b:(]‘zc)k.ué x+7 s x —1 | (viii)

(i) |

(i)
(iii)

(iv)

(vi)
(vii)

Define sequence with the help of an example. -zf Y S sl = 34 JJ&1 (ix) |

Q. No.4 Write shortanswers to any Six of the following 2x6 25 L7 = ....vl.li A2 Lz £ :...Jf 4 /Ulr

What is difference between lntersectioniof sets and union of sets ?¢ < u} - Lyl d’uv ¥ ur (i) l
g s A° In A=(3,5,7} 4 U={1,2,3,4,5,6,7}/l' (ii)

fu={1,2,3,4,5,6,7}andA={3,5, 7 } then find A®?

ol i 88 2 CxC In,C={1,2} 1| (iii)

If C={1,2},then write the number of binary relations in CxC |
Define Cartesian plane. -i ..4,-3};r J g~ u[ &) (iv)
Represent the point A (4, 4 ) on graph paper. ...."'4.: Vi P SV A{4,d) 55| (v)

; Convert 127°F into °C : 25 Ux A °C L127°F | (vi)
Write down two properties of Arithmetic meanu@ pakCIty.org %‘D “ZEf oy 3 § Lol g | (vii)
“Find the range of the data 6,8,10,14,13, 12 e e Lz | (vili) |
Find harmonicmeanof 3,4 and 8 -2 r:l": best KA ¥ 84,3 | (ix) J




Part — I ("33 A2

a@pakcity.org?c

Find the median and mode for the dataof 3,5,6,8,8,9, 10 ‘

NOTE : Attempt THREE questions from this part 8x3 _é(,f’ .:;Ulf;,-f z:...df & ) oy
[ : o , :
e S L LT e 1 SET770 o 28t QL2 e 18 Lk 1/ F 63 28 14 | (A)-5: Aiy
if 14 Cows consume 63 Kg of hay in 18 days. How many cow will eat 770 Kg of hay in 28
| days at same rate ?
ottt 8l IS ke S 2:3:7 0 5 ST £067,200 2 U o L) i | (B) |
Three members of a firm distribute the profit Rs 67,200 among themselves in the ratio
2 : 3 : 7 What is the biggest share of the profit ?
' _..q..rl;;r 40 (3 Ty 950 -.'bz Jrf..?ér:l"‘f.l J/‘" I rI/JKIlO,OOO y Yy, JJ‘, Jrjrc.'_- (‘jb} inﬁ (A)_G . ﬁ;d”'
| If the wheat crop is produced 40,000 Kg Natural resources calculate the amount of Ushr if
the price of wheat is Rs 950.per 40 Kg ?
1 5
| 2P L L Jet = & U 2l 4% 4 4 50,000 (B)
1
| Find out the compound Profit of Rs 50,000 at 4% for 1-2- year.
23,500 J5u i st 31500 50 U2 ¢ &0,3500 S5 1S 25218000 oF 1 S (A)-7 : AUy
_ L) .
¢ 7 ;J,Ld:ftfu"‘w?n
Calculate the gross monthly pay of a person if his basic(pay-is Rs 18000, house rent
allowance is Rs 3500, dearness allowances is Rs 300@@\!3“(2& allowance is Rs 1500
and Medical allowance is Rs 500 ? %@
h %>
| @ 2.38 x 3.901
38 x 3.
| O ~ 183 -éd’:-ulfd:qé(’x(} (B)
2.38 x3.901
Solve with the help of logarith - fa Vi
— “\\ “\/ : - ®
A Le -146 KJ 6’/[!6,2,-—2,----- P (A)-S:ﬁ‘dly
Which termof AnA.P 6,2,-2, -====ece-- is -146 ? |
|
(ANB)NC=AN{BNC) -i..:.:t'?x c={2,3,4,5,6}»8B={1,3,5,7},A={2,3,5,7,9} A (B)
| f A={2,3,5,7,9},B={1,3,5,7} and C={2,3,4,5,6} then
i_\ierifv that (ANB)NC = AN(BNC) )
y =2x-3 &b ._.ilfb’..:.»lal,» L}_J & (A)..g :/;d'f |
j Draw a graph for the given equation y=2x-3
i
..ér’:"’ub;:lglb:f:lf3,5,5,8,3,9,10 (B)
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